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ABSTRACT

* The ma:m purposs of the internship was‘to test

” el students in a specxal grade six class for their unﬂerstand‘
ing of cannectives in punt ahd to, :each those students ’
"who indicated a, heed on the basis of test scores; how

3 !
connect:.ves signify cerxaxn mental operaupx}s essential -to -

the act of eomprehensmn. ES 58 sl '7 : &, g

. ©oall'of the students in therclass were glven LT

D particular connective teceived . iction .tn that: ine _'vP %

Bach of, the 1nstxuctmnal permds was, thirty minutes

w b in length and emphas:.zed how con\necuves s1qn1£y xelanon—

©./shipsof a specific k.md. “The instructional perxod was

iollcwed up t.he next. day- wn:h a’ thxr y—mnnte p!l.‘).od of

reinforcemen(: that called upon the students o ptacti e the

zelmonsmp sxgnihed by. “the ‘connective: “This practlce ; Sy

S et involved the snua of l1stsnm§. wm;mg, speaking. and

LR f zeaqu.

that co;n—
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% o “Introdue on -

? ,.‘hzs mternsh;p ‘was concarned th

3 acked

assxstinq stud nts who

. nect ves in exercxses thnt xnclnded the varions l.anguaqe

. sk1lls of lxstenlng, speakmg, anﬂ wntxng Because a

connecuve functiuns as form that relates one language *

i stwcture to anothzr, emphas s throughout the mtex‘nsmp was’

-_ placed upon he l.mportance of tmnk;,nq xn the act of reading. d




'bet_weén .

es signify rel:
..-clauses, a

* the relationship sigmf;ed depends upon the
. gonnective used;

3. bé¢ause precise zeuuonsmps are’ indicated .
/by ‘Connectivés, careful  thinking is an important g
part of reading. : . b B " e

®o b3 T T [

(11T Néed fof the. Inteinsl

lo ‘_'ng

sentence:
"Hary played ball: although hL mther ccs'm
hex not

although, nt even afcer mother.» thle one mlqht poss:.bl)]




c zo,sicn 11n§ropex-phrasing 1les din.an- imperfeci-undezétan

"’ ing -of the connectxve. -nus seems a“likely explanatxun

because ‘the student shuws better phrasing xn thoa sentences

not employlng connectwes. % et

Perhaps a cleanr mdn:at.um of poor. l:omprehensxon

can be shown 1)1 students answers to questions based upon a i

5 sentence such ‘as’ the follouinq.

“He brus ed ‘his teeth: when he'got the time?

l "‘Bvei}.n’:‘ouqh' the student ‘can xeccqnlze atl of 'the 'woxds, “the ¥
i s « -

! inftern‘has found instan

s where the quelt;cTH an dxd he

btu!h i.s teeth?" has heen met with responses 'such ‘as "In

‘ the. motnan?" "After d: ner?" and s6 on: These tathet

dlsconcerf.ing repl;es re not zesﬂlcted to the Expenence

uE the 1ntern as- many teachersmave verxf.xed amxlar

experiencea occurnng in their classroms. : :

Often, ln sxtuations }ike\these, 1nstructinq the = =

zead

ch:l.ld o he‘ entence more carefully has sutisiactozy

y results. Howevex, it is the gpinion of tha intern vthxt

g connecnveJ are of: such ' s).gnl(xcance that theu presence in’

lore ®, P R et V. Objectives

n language artsskills understood
es in. seucences %,




4.

S~ 4

To jmprove their -comprehension of poorly
understood connectives by, providing outside
of regular ‘classroom -instruction a 30-minute
teaching unit which ¥

A, 'emphasxzed how connectives’ signify * Yy
re.latlonships by providing a specific
kind of link

B. showed how the kind of link var),es

with the connectiyes ‘used.

To reinforce their unde#standing of ‘poorly.
. understood connectives by providing on, theday
following instruction & .3¢-minuté followrup

" it which emphasized pradtice of a particular

connective. in activities and exercises using
the ‘language skills of l;stenxng, spea)ung,
wxiung, and read:mg. LIy

To enc;\}tage careful mmkmq in bhe reading
4 g 5 "




CHAPTER II
] .
REVIEW OF THE RELATED LITERATURE

I. Defining Connectives

In this internship a connective has been defined
. as a linguistic form that links-a clause to another clause
' or to some word in' the other clause (Robertson, 1968:°393).

Robertson (1970) feels that aifficulties in com i

. péehensmn may rest vith comnectives.. She’suggests’that

'; ‘the words themselves as words are mot the pmblem but that .

B the mental operations required by the words may be. . .
To examine the kinds of mental operations involvéd\
it is-useful to look at the way Gleason (1965: 342-343)
classifies connectivés. The First classification he describes
is on the basis of the “units (for exa]l_tple, words or clauses)
that they may connect. The-second classification is on the
basis of the kinds of connection they show. This, in effect, 2

indicates the kind of mental operation mecessary to perceive

the telat‘idn or make the connection bétwegn the units. {n
other words, the cumulative classification below describes /-
the relation as one of simp}y adding one idea to another, !
the adversative would indicate a’ relation of some kind of .

« .. opposition between ideas, and so.on. This second classifi- -




cation is not exhaustive by any means, and some of the
categories overlap. However, it contains all of the con-
nectives' used in testing the students involved in this

internship, and it is a useful framework to idéntify the '

types of mental operations required in understanding pre-

cisely how the connectives function, or connect. The
Specificative and Spatial categories have been added by the
intern to accommodate those connectives which Gleason does

not mention in his éxemplary classification-which follows:

and .
3isjunciive: or
Aav'ersa:'ivé_: ) ‘b{xt} hovever, yé:
T11ative: s thds . '
Conditional: if

' Concessional: - although
Temporal: .when, while
“specificative:  that, which
épatial: where

II. sSignificance of Connectives

Werner and Kaplan (1963: 179) believe such morphemic
devices as form words or particles have value for thought .
and communication in that they serve to polarizé two events

(or thoughts), while uniting the polarized moments in an

'




integrated utterance. In complex utterances lacking the
full explication of relationships via form words, the
utterance is united only through concrete context or
intonation, ‘wherbas the conceptualized events becime mare
clearly segregated and self-contained and are shown as
clearly linked to each m:her‘ in specific ways when form
words are used. They add that as the.context of the utter-
ance becomes more remote from the context of occurrence,
the explicit expression of xelatxons becomes necessary for
communication, .

Pearson (1974: 190) found that grade four c};‘i\ldm
pxefezred the structure’ "Because the chain broke, the -
machine stopped” to "The chain broke. The machins stoppéd.*
Peazson reasons that the reduced qzamatical cop:plexxty nnd
sentence.length of the second structure placed .an 'nferentul
burden on the reader that is not t present in the explicitness
of u:e,fust structure. )

V Considerable research (Hunt, 1965; Loban, 1963) into
the auquisition and use of subordinate clauses shows that
the use-of subordination is an- important predictor of reading
ability. These ntudxes 1nd1cate that -a ‘child with a supuior
ability in subordination in language tends to be a supperior
reader as well. A vital factor in subordination i# the link
provided by the connective. ‘It is thé connectivd that defines
precisely the type of relatiénship between the Glauses being

linked. Thus, it Seems logical that a brief éxamination of
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the research in the acquisition and use of clauses by
childrén would indicate a kind of parallel development in
thé acquisition and use of connectives which typically ~
introduce these clauses.

Hunt (1965), in examining the writings of 18 stifents

in each of grades four, eight, and twelve, found the fre-

quency of subordinaté clauses to all clauses, both subordinate

and main; to increase from grade four to grade.eight, and

! from grade eight to grade twelve-

* Loban. (19637, who & the achi it in readi

writan, lxsf:ening, and spee;:h of 338 s:udents beraapa . |
" of_'seven years, lound the 1ncidence of aubordinuien to -
j.ncrease ccnsistencly from Kmdergazten through grade six,
in )ugh, low, 'and random gmups. .

LaBrant (1933), in a sample of 482 1n grades four |
to nine inclusive; found dependent clauses to increase in
proportion to the total b 6 AiRad used, with the
increasing age of the writers. : -

Watts (1944), in an examination of the writing of .
~"several hundred" children aged 7-tdb 15, found the percentage

of dependent clauses ‘empldyed to increase consistently from

 16.2 percent in children agéd 7 €68 to, 43.2 percent if-

.children aged 14 to 15.°
Te.llplin (1957), in .speech samples of 275 chlldren
‘ages three to eight, fm?ndrzr_hat the 'mm.ber of subordinate

clauses used increased substantially with age, For example,




~ 8 three—»year-’oldz. used 111 such clauses whereas the eight- .
§ . . year-olds used 580. -

Roberf§on (1968) found a sxgn;ficant relationship
betweén a child's understanding of connectives,in reading
and factors of sex, mental age (verbal»and nonvexbal) and

. ability in listening, reading, and written language. .
) Despite the increase in subordination found to

accompany an incf@ase. IN chronological-age, two types. of'

subordinate utr\ictuxes wexe ‘considered to zemain low, -icbah

.(1963), Templin (1957), Da lis (1941), hnd Watts (1944) found

adjectival. :luusas used 1ésq. than adverb or ‘noun’ clauses by

children nnginq An uqe fzom to. 11.‘ It 15 1ntezest).ng o <

to note that LaBrant (1933’) found - only adjective clauses

and’ clauses of oompanson to cause. structnxal dxffxculty. I e \l/

= In additicn, Templin (1957), Hutts L (1944), and Lan'ant
(1933) found that adverbial clauses of cmdiuon. concession;

-place; manner, purpose, and comparison were used very rarely . = . -

by children ranging in age from. 3 to-11. However, Templin
(1957) and Watts (1944) found in genmeral that adverb clauses
‘were used more fxei;uently. than eithef adjective or; né_;ln o
- “ clauses. wm.in the same.age:range of 3 to Ll T
Hexder and Heider (19‘0) a].su Eo\md that " clauses i ;
containing content - expressmg possibilxty rather thnn actu-

ality wera items ., o£ difficulty for. deaf children‘, causmg

" thém to use these structures less .in their wn::ig than
hearing children. ' Such. structures would no doubt. include
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adverbial clauses of Cohdltlon or concesswn..
Other prohlems these deaf chlldren demonsttated
in their composition stemmed from an inability to choose s
comnectives o aifferentiate meaning; trouble’in determining
~if the.subnrdinnr,e ‘clause affected £hé meaning of the entire
main c}.ausa or a word therein, diffxculty in chanqing the
word order to that’ Of a subordlnate clause: flom that of

" the co:respondxng simple’forn; and dxff].t:ulty in fqrmlng

structuzes wh)ch req\ured orgaru at on of the whoie sentence .

the e. i precedan 'cr mtez:upt).ng clause).

Because ad]ectwe clauses a

ceztam adverb clauses

(condxtxen, concess:.on, place, manner, and:. purpase) aze

“chi: dran descubed a‘nove thnn

»Es :and: noyn ¢lauses, it seems s %

pond1ng1y be used less as weun Indeed, xc is G
that the reason the clauses descnbed above are’ not used is

‘that ‘the chud does not understand “the* connecti

S, that

introd\me adjective or certain adverb clau es. Thus. ‘in

the devel,opment of a/child's nanguage profi

‘that, connectxvgs nay not’only be: slgnxfxca & genenuy, but.

that t somg connectxves ate more sigm i

“ Watts (1944) ,ina readinq cannsctlves test, found

“that pupils at’Ehe age of exghb to eiqht and one-half scored ,'-

-’50 'percent ‘of ‘h 3 ansqers correct, -,'ﬂus increased £o 66

appears

e




percent for pupus at nine and niné and @ne-harf, and to -
s " 4779 percent for those at. eleven years, A breakdown of the
connecuves ‘that were most difficult was'not included! Aa
‘Watts' study, but he did show that it was 'mot until nime =
" years of age that 50 percent of the. pupils employed although
L L& correctly. V k = : 3 sl
) 2 Brent and Katz: (1957) found that adversative con-,

nectxves such as but and although were. harder for- children

like beé‘ause. Rabertson

67 percent of the sentences contaxmng qnnnectwes, The

understandmg level rose from 57 pexcent in’ qrade four;. to .

. Lnterpreted thi's to .mean ‘that cmnprehension at- the foukth

- and fifth qrade levels ‘was inadequate. ; e

Tl

al




An additional consideration in the devexggw;t
connectives comprehension is that knowledge of how connectives
f\inctioﬁ ma’y contribute to increased mental ability. Rawson
(1971) says that unﬂerstandlng connectives can contribute
to overall mtellec:ual advancement. She maintains that the
bridge ‘o discovering the gemerality of the rules of thinking

appears to be the printed symbol, with words like and, or,

although, whenever, but, . therefore, if, and then, signifying. .

the approprlate operation..

Perhaps the sx.gn:tflcance of connectives can  be bést.

£ sqmmed up by émphasizing «their role in md;cacing the kmds

of“connection.between sy‘ntactlc structires” and in s;quymg 5

‘' the aécombényiﬁq nental operatiofis important to comprehens:.on. ;
As Brooks (1964:. 182) mdmates, words such-- -as but- and although
are’ wo:ds that have, little meanmq in themselves but "serve

to particulatlze items in an utte‘ nce ahd to relate them

tor each other as well as to changé, and guide’ the duectxon

"of the thought."

:*. ¥
I1I. "The Digficulty With Connectives. .
o / " p .
o & E 54 :
ptl o Research (Plaget, 19358} "shiows "hat ‘Bhildren acquire

. language structures uéxng connectives eazly in.life. Piaget

noted, for example, the' use. of because and since in’children
aged three. Piaget' (1966) and Menyuk “(1969) claim that the
redson' some-conjunctions appear before others is related to
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the manner in which cgrtain logical operations appea.z in

the thinking of children befori otherg. For example, Piaget
(1966: 32) maintains that up to the age'of Seven or eight,
e tse) OF 16gicAl JUSEIFICation Temdiys At 4 very inperfect
stage, which explains why the word therefore is not found
in the language of the child. 1In the same vein, Menyuk

ions appear before "if"

(1969) ‘that "cause” con:

conjunctions becayge the direct and consequential relation-

. ships expressed'in."cause" cr;)njunctionsvéxe probably easier

to acquire-and -uqdersfand than the conditibnal‘ relationships

"so" and “if" ac‘m]unctlons

expressed in

Both Tacib’ex-:scm (1968 g, and- Manyuk (19‘69 93}

inidfcate that: chudren useé ch}eccwes before conpletely
understanding them. Robertscm (1968:" 416) claims that
children’ use clauses in’ speech before they'go to school but * -
do not develop a sufficient understanding of thietesntigs

of connectives in print,for al nurber of years after that.
Menyuk (1969) feals, as well, that before chiidzen observe

olved .in using cun)unctmns

the set of logicdl restrictions-i

they are n\erely addlng sentencea together, absenv;ng the
frame but mot the content.: |

Piaget (1966) ,co'mments on this’ 'Lepdency to’ add .
sentences togethexr in his theory of ji:nctapoéii;ion which claims
that chhdzen.gho'fgﬂ £o observe logical réstrictions 'fail,

. in effect, to make éxplicit a,relationship between propositions.

. which imply’ just such a relation. Piaget maintains that the

. B
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\child's difficulty in certain uses of because, therefore, a
and E?ﬂ,.c;r in the tefms of discordance {for example, - . ‘
although) is the result of logical difficulties. The use '
of these words, he says, seems 5 PR £he bapaEtey x
for observing rules in reasoning and consequently the power
to make use of formal deduction. For Piaget (1966: 57)

verbal confusion, when it is concerned with a rélation and

not simply with an unknown word, is always the sigh .of .

logical confusion: . ' o

~ I chlld:en never make use Of exph.clt
disdordance and do not ‘understand xmpl).cl.t
discordance until after the-age of séven
to exght this, is obkusly because the
notion ‘of .an exception to-a rule. which-is
prestpposed in’the:notion of discordance
between cause and effect is not-a.primitive
notion, and is not one"that is familiar to.. . ~ ¥
them. Por there to be exceptions, there. ¥ ,

I “must ‘obviously have been rules, and if . . @
T . “ the child fails to understand. the fact . ¥

that there are exceptions, it must be .= 81w § .
because he.has' never formulated any rules.

Piaget considers it no,coincidence that the’capacity for
discordance appears at the same moment as that for fomnl
! deduction, for both are thé ‘result, he c1ams, of an advance ..
in the child's capacity for generalization. . Y R I
Piaget (1926) identifies thrée pomts‘which char= .
acterize a mind incapable: ‘ot logical thinking: absence of -

conscious tealxzat}.on, absence of: general pxoposxtwns, and i

‘absence of deducti ‘He, t{aces these logical dxfflcultles

to an absence of the desire to arque and collabczate--the

xmtlal factor in’ the delay of acquisition of ‘the-verbal

. e
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forms necessary for expressing logical relations.

. Vygotsky (1962: 106-107) also, maintains that a
lack of "tonscious awareness of relationships” accounts for
the e_xght .m nme-yeax-old lsmg because correctly less
often in ci&ennq sentence fragments employing everyday

as with sent Lx_wolvmq

A < : of
scxantxfic concepts. For .example, a child Of eight or nine: -

thu uses - because corractly in spontaneoul conversanan would

expect:ed to say: that "A bcy ell and brokg l-u.s leg

cause" he was tak n’ to. hosp).tal.v

¥ ‘let Vygotsky lo\md this

1n" his ) (of completing

,\ untxl the child becme fully conscioun of thn concept uwclved
‘:m the relation. X R T W] MU
The explanation fot chxs, he ‘reasons, is that the
. scientific ccncepu rare taught in 5chool m t.he cfuld. . Here
‘the teacher has uda the student conscious of relatxonslnps
in the 'scientific subject taught. .The teachu, Vygotsky &
says, has expllined, uupphed mfornation, questmned, -
curxeqted, and made. the pupil explain.
The obvmus inphcar,xon 1: th-t thera is no ‘one.

_eve:yday conceptu: thus, the ™

doing that with xagard t
_child of eight to nine. does not perfom as well :m completing

the f e 5 ining chesa

the .other hand, educati.cnal factors may - ac«:oum:

fot an unnecesaary delny in' comprehension of connec\:xves.

Robertson (1970), citing Rawson, cautions us ;hat teachers

"




“often consider mnnecnve ‘toq simple to :each)except as
- sight words. She found that conmectives appear in about.
37 percent of the I‘entencesTréad by children aged eight. to
twelve. ‘Haweqqi, she 'claintfth; amount of subordination
\ - i produced by these same chi);ﬁxm ranges ‘from 10 36 30 pez.ée.i,t
* of -their total sencenoes. wuh the ammmt chreaslnq f:an

i year to year.. / s

3 Dale et n1. (1971) remnds taachan that mny

cleu

T ; In 'a study of si;:y__.g-}gdg four children, Bormouth )
‘et ali - (1970) found significant nusbérs unable to demonstrite
a cinpzenensién of the Bost Basic syntactic structures by.
vhich mfomaunn is signalled:: an mninntlon of the

structuxes vh&cb caused ‘the. qreatest difficulty tsveals that

the lmst score: were realized on t.ho!e st:uctuxes which -

v 3 corisisted. primarily of

yi
1t appeau to the mt.ern that r.he.pour !eorel fo\lnd

by Bomouth et al‘ may “be due in large part to the stuﬂents

¥ :fnlure to understand certain: connectives. and the relalt

. shx.ps these cannactxves sxquy. If this is w,

’specia).ly

'singe’ the succen or t'aum nf ‘the educational pmcess
% depen\is heavily upen a stndem-.'s mastezy n£ language cumpre—_ s

'henslon sums, 1: would seem that comprehension of cormactives




is importafit in achieving these skills.

. IV. ‘Summary of the Related Literature.’

, it L g 5t 8 o \

:,and _fa:.l.lng to “make-a; chi.ld conscx usly aware of the function LN )

tiyes. in 'print.. Deaplte (:l-u-:-1 fact that. . chudren do acq\n.:e
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CHAPTER III
METHODOLOGY

. I. Identification of the Students

The subjects for this internship included all of the
stidents in a special grade six class at A.P. Low Elementary
School. These students were designated as slow learners.

" An indication of ‘the’ students''language ability as
measured by ‘the Canadian Test of Basic Skills (CTBS) appears

{in Table 1. : & .

TABLE 1
-CcTBS 1 scores 1976) of involved. in
? p the internship. B N
STUDENT = AGE  VOCABULARY  COM ION * TOTAL LAN 1
s Grade Grade . Grade d
. Level,.%ile  Level sile Level sile
a 14 4.0 7 5.6 31 5.3 29
B 13 2.8 1 3.7 4 . 5.0 22
: c 13 absent’ absent 5.2 27
. D, 11 ‘4.4 11 - 5.2 20 5.4 32
E 12 4.0 11 . 5.3 23 3.6 2
F . i3 2.6 1., 4.5 9 4.1 5
BRI 11 5.2 23 . 5.5 28 -
H 12 absent absent T- -
I 12 2.6 1 132 5l A 3.7 2
‘g 14 - 5.2 23 . 5.1 18 47 16
K\ ‘ 13 5.4 27 3.7 4 3.4 1
ﬂ 12 4.2 9 5.1 18 4.8 23

lrgtal language scores iriclude results in usage, punctuation,
and spelling as well.as vocabulary and comprehension.

: ERENE A
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II. Procedures

All of the students were subjected to a reading
connectives test devised by the intern and based upon a test
appearing in Watts (1944). One hundred and twenty sentences
were prepared using 14 different connectives, each connective
appearing eight times. Using the split-half reliability
formula, four sentences for each connective were chosen at
random supplying 56 sentences each for the pretest and post-
test. The fourteen connectives used were thése identified
by Robertson (1968).and Stoodt (1972) as causing difficulty
for students in grades four to Six. . The vocabulary of the
sentences was restricted ‘to the Dolch Basic Sight Vocabulary,
Dolch's 95 Most Common Nouns, and' the first 300 of Fry's
Instant Words. The test was cn’:mposed of sentence fragments
ending in’a ‘connective with a choice of four completions,
only one of which was logically and grammatically correct.
Only those students who failed to score at least three out
of (fpur correct (as indicated in Table 2, p. 25) in a particular
connective received instruction in that connective.
; \'\ o s
111. “Basis of)nstructiwn
[ . '

Je In planning the instruction, three vital concerns
were kept in mind: the children involved in the internship,
-the nature of éonnectives, and the nature .of language in

general.

SN
T




As the children involved in this internship were
special 4n.that they had been designated as slow learners,
the intern, in his teaching, went beyond verbal explanations
and pen and paper exercises only. All comneckives were
taught in as concrete a context as possible and occasionally
were reinforced in a concrete manner as well. That is,
students usually had to do something such as handle items,
carry out actions, observe an experiment, or play a game
that in some way manifested the nature of the connective.
This can be noted in the first step of each lesson plan.

The nature of connectives is such that they join
words, phrases; and clauses. Primarily, this internship
was concerned with, the way connectives link clausés. As
conhectives derive their meaning from the kind of link they’
signify, the intern developed the meaning of connectives by
instructing the ways in which'clauses axe *dlated or connected.
For example, there were cumulative links expressed by and,
explanatory links expressed by thus, spatial links indicated
by where, and so on.

It is now generally accepted that reading is but

. one important aspect of overall language ability. The nature
of the language arts progrdm in the school takes this into
consideration in its aftempt to integrate as much as possible
all of thé language skills. Practice in comprehension of
connectives in listening exercises, and using connectives

in speech activities and written work should reinforce
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Comprehension of connectives in print. The intern imple-
mented all of these language facets in developing student
understanding of connectives. . .
The responsibility for instruction belonged primarily B
to the intern. However,. the classroom teacher assured him
of his interest and full cooperation. Instruction took
place in the reading center. Only those students who scored
-fewer than three out of four on the pretest were subjected \
to instruction in that connective.  Two one=half hour
sessions (one for instruction, followed. the next day with
one for pract?'.c:.;) wéte en\picyed with one excepéion—-vthe

teaching and practice units on’ thus were doubled. . .
ey | s

Outline of the Lesson Plans

Each of the lesson plans had the following in.common ¢
(see Appendix A for lesson plans):

1. The function of the connective was defined
in the Purpose. All -functions.were defined '
in terms of "first and second idea" rather
than "first and second clause,” as the

scope of this internship did not.include
instruction in the nature of clauses. The
connective always appeared in the "middle"

of the sentence’ for purposes of consistency, .
and with the’ thmkmg that this pattern would .
assist the students in undarstandmg the -

linking aspect: ofconnectives. :

N ;
2. ' There was a concrete application of the
function of the connective in the Procedure.

3. FPollowing this, "student verbalization of o
.the connective's function was sought through
discussion. 'Primarily the purpose of the
“discussion was to help-the students discover
the nature of the connection afforded by




-beiused to join the ‘same two clauses
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the connective through recall of the
expetiences in number two above. If the
student, at this stage, actually used the
connective being taught, it was jotted
down for referral later in the lesson.
Patient and varied guestioning was often
necessary to draw the students into .
verbalizing their experiences in terms
of the function being taught. For example,
in the lesson on thus, it was evident that
the students would never have said, "I
deduced the answer on the basis of the
evidence," but rather they said, "I figured
it out because... An attempt was always
made to take the verbalization as far as
possible. In the above situatiom,. for
example, the discussion continued until
one student said, "I realized..." and
another, "I ‘decided...."

The actual ‘connéctive which.signified the
function was ‘identified.. .The use of context
seemed to.help as it provided a framework
in which the thought.was transmitted.-
Difficulty was: frequently encountered

here ‘as. different coppectives often. could

however,  success usullly resulted when

the ‘studéents were reminded of the type of

connection they had to make.’ For example,

in Lesson I in "Mother washed the clothes °
put them in- the dryer." where the

Telationship sought is cumulative and

therefore required and. It'is clear in

, the above example that there, is a possible

temporal relationship as well. If a’student
suggested then, he was.reminded that "Then
shows what happens next; how can we link
thesé two ideas by just adding them?" It
helped-to explain to the student, for
example, ‘that Mother didn't have to put
the.clothes in the dryer after washing

them, but that”information. could: have been’
added for a particular purpose--for instance, - "™
to'show the chronological order of Mother's
working morning. At the time of instruction
it was thought by the intern that discussion
on thd differences indicated by ‘various 3
connéctives was adeguate;. however, final
testing suggested that such was likely not
the case, and. this aspect of connectives
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should probably have been approached in a
fuller and deeper fashion.

5. The connective was then used to create one
sentence out of tuo separate sentences which
related the ideas engountered in the concrete
application of nunber two above.  This part

of the Procedure seemed to help the students

focus on the function of the connective .
because a link had to be made rather than
discovered.

The function of the comnective was applied

orally.

o

7. e’ sEudents” FHASEOO VAL 105 pxacnce
exercises. ;
' Thzoighout the -course of the internship there were
three reviéw tests. The firsk occurred after Leésson -V;

the' second, after Lesson & and the third, afte¥ Lesson

XIv. These review tests’ and nther‘ ongoing evaluation .

1nﬂ1Cated t.hat tHe . students id not expenence a'degree o'
d.lff].culty vuth the instriction that warranted &tra teaching. -
The, one exception was with the lesson on thus. . For thxs :

- connective, the instruction tife and practice ime were

doubled.




CHAPTER IV
FI«DINGS AND DISCUSSION
; i I. Introduction
‘ ' The évaluation Of this internship was basically

of two kinds. The first was an ongoing process, with-the

[ oy intern. evaluating the instruction in terms of time allotted,

locale of the teachxng (1.“, i the"xeading center); degree

or 1angfaqe, in general were noted : both by the Lnte;‘n and

by the ‘classroom téacher. "One result of this continuing

evaluatmn was. to double the 1nstruct10n and practxce time

‘ : for the connective - thusi b S
The second kind of evaiuatmn was: a posttest to,
detemlne the effects Of r_he inatxuction.

‘ 5 : ; 3 Analysis of the Results

[ 4 3 - From fable’1 it .can ‘e ‘been that eive of the tvelve.

“the “students the greatest. problem, fg‘llnu_e. by although ‘ana’

of diﬁfl.culty of the’ exarmses, the natu:e of che _ext tcises..

students accounted. for 85 pe‘:cem: of the errors. Thus gave )
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but remained the:same at three. The gains made’for all

\ . 2
\ %

where. J‘_g y_t, and but were next im difficulty. So.
gave the students the-least trouble. All of the stidents
scored at least three out of four on this connective.

A comparison of the results of the pretést with the
results of the posttest, which appear in Table 2, sm‘ws' that

overall little gain seems. to have been made by the students;

however, there are several changes worthy of ‘hote.  «

The three connectives causing the gréatest difficulty
on’ the prefest caused much less-difficulty on the posttest.
The ‘nunber of errors for thus decreased from nine to four, .

although decxeaéea £rom four to one, and wheré decreased
from- fous to to. - OF the ther. t‘hze’e”conrv.e'ctive;‘;nentioﬁed ;
as’ causing. (:he wost i flculty on the pretest, yet decteased

from three’to 'Dhe, W]

¢ decreased from three to £wo, and

of the students are iuu‘sciacaﬂ in Table 3.

From Table 3 1: can be seen that seven students
seemed to gain in 10 d:\.ffetent connectxves for a total of
18. ‘Particularly noteworthy are the advances riade by
Students: E, F, H, an:dvz, and tha fullure to make any gains’
by ‘Student G. :

In Table 4 it can be seen that although Studen:s
F, H, and 1 fa;._led to' show mastery on certain conngctxves, .
thay, b aliown mastary'of Lhen onithe rstests Ehexs ik
however, an i_néicat;on that Students F, H, and I achired com:

prehension of three; four, and. six connectives, reéspectively.




TABLE 3

of not on' the
) . Students ) Total per
Connectives c D . E G «H J* Connective
and . - 2.
but x x 3
however x x 3
50 x 1
thus, x x x. > 4
if 2 1
although x i
yet x 1
when X x 'x 4
while x, x 2
which x x x 4
where x| x 2
that - x X, 2
or x x 2
Total per A =
Student L 1 1.4 9 10 = 3

_'Drappad out of school half-way through internship.

e



¥ . . TABLE 4 *

- of r ves not on the pi but on the

: F Students = . E ¢ s -0 Total of
Connectives A . B c D E _ F G H I J K L Connective

ana B 3 i e .
but x - .
however
80
thus x x ' x
A * < %
. although ' 8 x x..0 % .
=3 yet .
when 4
while . . 8 o x
which 5 . x
where g B . 1 X x
. that . % x. k
‘O!‘ .

%
®

3 x i ix

O HNHHFEONWEG®WOOHKR K

-
53

Total per. : o i i
. gbadent . . 1,0 12723 Lo 4 860" 0 0

82



W .y TABLE 5 ) !
i 1 of ed on . but not on posttest
o Students . TotaY paz
A B C E F G J K L Connective
x 1
] ¥ 1
& 1
) . o
1 )
. 0
although B 0
yet . . 0
when X 3
while : o
which x x x 3
where x 1
that 1 x 1
or i , 0
Total per s e
Student L bF A ot 12

6T
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One of the most- interesting aspects of Table 4 is
the per formance of Student.G. - The results of the posttest

suggest that the score realized by Student G may not be an

accurate of his in'q of the connectives
examined. In the posttest, this student scored correctly-on
32 out of the first 37 items (compared to 28 out of the first

B : g .
37 on the pretest). .On the posttest, he scored only 1 outiof

the last. 19 :(coipared to'10 out of the last 19 on the px‘etest)

No reascn could be estahlished for’ this h.\thy un-

- . 11k91y pecformincs. other than boredom, ‘perhaps; of rushing

to complete ‘the: tesr_ .One f:mda l.t dli(xcult to expla).n

why Student G made 72 pex‘cent of his errors on the lust 34-

petcent of the Ltems i.e., the last 19) on the posttest 5 .

[ E as each cqnngctxve was méasured four times (om:e every
Eourteenth_ iten) both on the pretest and posttest.’ Mastery . i
was considered i getting at least thres out of four correct.
. " oma connective, S0, if this stident.had scored only as : | T
: well on" the “last 19 itéms of the pobttest as'he had on- the '
pxetest, he “might have shuwn ncn‘mastery foz only ‘one _con-

nec(:ive ms:ead of nine connectxves. This would .have: altered :

the overall resilts of the intéraghip dramatical Ly:

As can be seen in 'rable 4 six students, D, P, ‘G,

H, I, and K, failed o master conneccives they had mastered

| o
-on the, pretest.

In cou;par‘ing Tables 5 and 6," one can see that for




Number of wrong completions for each sentence on the pretest

TABLE 6

B ¢ Number
Sentence. Connective Wrong

Number |
Sentence Connective < Wrong

=
and 0 1] and N
bat but " 2 7, |
however however ~ .1 )

- so so. - .1 L5

s/,
1P
“although '

yet o

@ N U AW N

©.1750 7 nowever..
“18 so
ehus.

T OO
“although -
ST

: when

247 - while o

25 which

26 i where

27 . that ool

29 - llor i,

MO G e e N W e N

. ‘thus . 7
% RO 40
. although <
36 . yet: "

2
By
5
3.0
5
6
3
T

]
2

thus”
48,0 if .
49.. ' -althiough "
50 yet i
et rEL i wneml D
%52 .. .while
" ... which.
54 . 'where
-, 55 . that,
RERR T S

o
re
o
8
o,oc’_u‘:tl-v

o W ki W Y

e d0 subtotal™
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32

TABLE 7
Nu!:n}wer of wrong completions for each sentence onthe posttest

’ Number Number i
Sentence Connective Wrong  Sentence Connective Wrong i
1 and 1 29 - and 2 o i
2 "+ but ] 30 but 5 ;
3 however 1 T3 however 2
4 s0 o 32 so 1
. 5 thus 10 33 thus L2
6 Aif 1 34 if 0
- although 0 35 although 2
8. yet 2 36 yet 1
9 when 4 37 when 2
10 while e 3 while i ’
‘ " on, W which © | . 0', .39 . which 3
bg = “12°.  vheré 2 . 4o - where 3
* s ‘that® ¢ 4% that 1 %
=i 14 or, ! O iz or .2y
15 ana 7 270740437 0 ana il
. 1w " but v 0., 84 ¢ but 5
R ¢ ‘however © .2 45.,  however 2
I ® e so- e R 2 .
19 thus 2 .47 thus i 4
g0 g tiE = T T
. a2, alttiough = 2 ‘ "49x | althougy 5 °
w ,22 yet - 0 50 yet o3
. & 23 ' vhen 2. 51 when - "4
~ Voo, 24 Cwnile, . o2 52 while 2
iy T 28 Y hien © et 53 _whigh . 7 R
) i 26 " where - * - 2 " 'sa. where V2 .
BT Y e g 47 that - - - 2 55 ° °* that 2 !
% e 28 er e 1 T seh T ox 2 i
5o Subtotal 48+ .. - subtotal 70 .
3 - g © [ Total-i 18 o - .
8 @ incréased from 9 to 12, Which from 8 tos14, and and from”




increase in the numbe® of H;ng completions from'pretest
to posttest.

In an effort to understand what may have caused
the generally poor scores of these students on the posttest,
the intern examined the sentences on the posttest which' ~
might have contributed to the results presented in Table 4
and the increases mentioned in Table 6. In addition, the
incorrect completions for items 47 ‘and 49 were also examxned
as they seemed to hdve a higher number of incorreét com-
_pletions than other Giamaron the postr_esc. @,

The 'lm:nrxect: cumpler.mns are *ind&cated in the
blanks. For example. nimber .9 had'four inedrrect completions,
all "(a) around five o'clock.” The sentences follow in

rical order. 8 . i 5 2

I went to the farm and :

(a) my dog-is black;. (b] cake;

(c) saw the pig; (d) toda a Bad day.
- ‘ ?

3. B ;.s next; however b (1)

(a) }I will go before him; . (b). I am not next;
(c)’in my gurn; (d) a. lonq Jump.

5. The woman had a man \ut.h her, “thus d(6), a(2), b. 1

blank
Ta) she was a good woman; (b) she was a mother;

r (c) thefe were two of them; .(d) I know the man.

* He came back when _a
(a) around five o oy T (b) he will go;
(). he saw all the people; (d) before i could see them.

“

15. The boy saw sevbn children and 2); = s
(a) each had on'a hatj (b) if wan T a box; . !
(c) I eat in the nwmmq ¢ (d) one of them said.

17. Many children Va.lk to schuol. hauevex; b (1) "

(a) to the house;, (b) L will walk today;

(c) they lhy‘ ride if they wish; (d) on a day.




23.

25.

30.

32.

39.

40.

51.

He came into the house when b (2)
(a) he got the call; (b) it will rain;
(c) the snow was white; (d) it was a small yellow one.

There is the house which d (1)
(a) close the door please; b) around here until then;
(c) is white and blue; (d) had a little baby.

The girl will not ask him to come and _c (1)
(a) he gave a box away; (b) said he had a dog;
(c) in the morning; (d) give her some help.

He saw the little boy but b (1)
(a) not the little girl; Tb) the boy was big;
(c) now the other girl; (d) give to her.

Can you help me so . a (1)

(a) I don't want help; (b) I will not be the last
(c) I found my ring; one to go;

(d) hope for the best.

Where is the bed which _a (1), d tl)
(a) can not go to sleepj me’
(c) go to bed at ten; (ﬂ) I like the bed to be clean.

She went to town where _c_(1) %
(a) she got a new hat; ~(b) our cat is black;
(c) she gave each of them; (d) to buy a book.

She does not think she is very pretty but b (1)
(a) I like a-pretty girl;. (b) have good clothes
(c) she is; (d) said the boy.

. Go to sleep now so _b_(1)

(a) you can get up early; (b) the next morning;
(c) the bed can be made; (d) I like to sleep.

She had two, and he had eight, thus ), e (3)
(a) they each had an apple; (b) the“"l—ftwo of them
(c) they live on a farm; together had ten;
(@) they were red. .

He will not go to bed although a (3), b (2)
(a) he is'in bed now; (b) he will not sleep;
(c) do you. know hi
(d) Tt is after two o'clock in the morning.

His face would turn red when a(2), c(1), blank(l)
(a) ‘it was not-blue or green; (b) he got too much sun;
(c) he had a big head; (d) .his eyes were brov?h
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53. He gave her some money which _d(1), b(1l), c(5)
(a) was not his; (b) every time he saw her;
(c) to buy a new dress; (d) went down the street.

54. He went over to the water where c (1)
(a) by all the children; (b) he could see some fish;
(c) going to be all day; (d) he will look for water.
55. I own the shoe that _a (1)
(a) was a big shoe; ~(b) another shoe just the same;
(c) you found yesterday; (d) you don't own it, do you?.
An examination of the above items suggests to the

i_ntern that three explanations might account for all but one

or- two of the incorrect answers. As these explanations are

broad, what the intern considers as an éxample of one kind

may just as well be’interpreted as an example of another.

‘For instance, in number 17 above, it is suggested that

perhaps ‘the student substituted and for however to obtain
"Many children walk to school and T,will walk today." But
the student may, not have made such a sibstitution. Perhaps
he noticéd the word walk in the fragment and in the com-
pletion and chose on that basis.

The first explanation to be offered is that often
students seemed simply to be very careless in their reading
of ‘the sentences. For example, some choices would make

sense only if the connective were omitted altogether as in

* number 9, "He. came back (when) around five o'clock." Numbers

29, "The ‘girl will ‘not.ask him to come (and) in the morning,"
and 53, "He gave her some money (which) to'buy a new dress."

can be interpreted in the same light(
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Sometimes the choices would make sense if insertions
were made. For example, in number 39 the student might have
inserted 5 and in intp the completion to read "Where is the
bed which I can not go to sleep in." 0:‘, in number 46 the
student may have added a thought from past experience such
as you can go to school to form "Go to sleep now so you can
go_to school the next’ morning.” In nunber 47, if the student
added an anisal to the words two and eight, he coumld easily

| choose (c). as in "She had two (goats) and he had eight (goats)

thus they live on a farm." In number 54, -if a éthdent in‘setted

‘he was intd a complat;un, tha result could be, "He went over.
L to e vsiat wiere he was going to ‘be all day."" - :

Closely related to what may be considered as tenden-

cies of insertion or omjssiup was thewtrend of students to

* chosse completions seeningly ch the basis of noticing’a” *

particular word in the completion that had some similarity

to a word in the For le, in numbei
32, the word help appsars in hoth the santmmos fxagesst and
the wrongly chosen completion: "Can you help me so I don't
want help." In nwbér 51, a co):our (red) appears in the
sentence fragment and colours’ (blue, green) appear in o
of the three incorrect choices fade: "His face would turn
red Mhen it was not blue :fgreen." In number g ‘woman and
TR
man -appear in the ftagmen » and all of the mcorrec: com-
pletions that were chosen ccmtam -either woman, man, or'- '
mother. It is interescing to note that of the nine u;_nng

Lo
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completions chosen for number 5, six students chose "I know

- :h;: man."‘ The sentence fragment reads "The woman had a man
with her, thus . Perhaps (d) was chosen so fre-
quently because man is the word that is closest to the
completion. In number'17, walk occurs ih the fragment and
in the completion chosen by the student--"Many children valk
to school; however, I will walk today." In number 39, one
of the incorrect choices contains the word bed--"Where is:
the bed which T like the bed t6 be clean?” The other wrongly
“chosen completion contains the word sleep: "Where is the bed
which can not go to sleep?" Nunber ‘49 i similar. OF the
five wrong choices, three ‘contain bed which. also appears .
in ‘the fragment: "He Will' hot .go to.béd although he is in
bed now." 'The other two contain the word sleep: "He.will )
not go to'bed although he-will not sleep.”

The inten did not listen to the students read the
test items, but poorer readers often -insert freely :(this
tendency was obsex;‘ied in many og the practice exercises where
the students were often called upon to read aloud).. Consider-
ing this tendency, one might cdnnl\;de t.har, the reading done
in the above example§ was superficial: It seems that the
students did not consider the entire senténce in their -search’’
for meaning. 'Rather, it.seems likely that for some students
individual words carried more significance than complete
sentendes.. Ignoring a part‘ of the context, or prn\'r’iding an
alternate context (in other words, making omissions or sub- °




stitutions) may well hav; been the only way for these
students to bring some part of their life to bear on what
seemingly impressed them the most in the material that they
uer.\e' trying to read. -

Perhaps this notion can be supported by examining
two test items, one of which is answered very successfully,

and the other very poorly. Both items were testing the

connective where. In number 26 on the pretest, séven out

of twelve leted this i ly: “She

Wil want to’ Live where 2" But_in nunber 54 on the
" same test, ‘only, one student completéd the !olluuing sentencé
fragmenr_ incnrrectly: "He 'will ‘take his book to-school wheré

.* - Perkiaps. the latter is much closer to the everyday

experience of a gnde six student-than is the former:
' “The second explanation is that it appears that some’
students have not had sufficient opportunities to relate

ideas in the most precise manner. Several of the incorrect
5 s

choices on the po ite i on) ‘might have been
due to students' ignoring preci.se relationships and’ suply
being content to.have ideas side. by}xda, or linked by a more
easily understood conmective. For example, in number 17 it
would have heen an’ easy matter for a student to subsr_xtute

and for huwevex and cantent hmselt with "Many, bhlldren walk
to school and I will walk today," Huz:h the same k:ma of
substitution cafi bé dond in pumbers 3, .5, and 30. In number .

49' all of the five wrong choices can be explained in’this way.
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For example, if the connective although is replaced with
the "easier" connective because, the student could make _

some sense out of "He will not go to bed because he is“in

bed now. Similarly, he could say: "He will not go to befi

and he WiL) st Slebp. " WNBESAS hE could not mearingfully
R say, "He will not go to bed a{.though he-will not sleep.”
The third explanation appears to be that some of

the mistakes may have occurred as a result of ignorance of

grammatical clues. For instance, the Wse of the subject I

®

" in'the first clause is.understood as the subject in the

second clause in number 1: "I went to ‘the farm-and (I).:saw

-\ the pig.”. Some students may’not have been aware of this L

structire.. In mumber 25, students. paying attention’to the i
“tense of 'the verb dould not have chosen "He came into’ the.
house when it will rain:" Number 15 shows two students who
were obviously nof awaze that the completion they chose wis

. still in'need of a direct object. "The boy saw seven children
and one of them said." ' The ‘same éiscgépancy occurs in sentence

40: "She went to town where she gave each of them."

. III." Evaluation of Instruction ‘
; d o G . : ‘
| bucing the couras of Wils Lntaraanin, jae nasseen
méntioned; an ongoifg evaluation was made of severdl' facets
} ©of the program. The time allotted for' the instruction and

practice sessions seemed quite suitable. (If anything, the




40

occasional instructional lesson might have ended a few
minutes early). .The students generally enjoyed leaving
their class and coming to the reading center for their
lessons. The exercises did not seem too difficult after the
directions were given orally. The students who came for
lessons were mot subjected to teasing from their peers but
more often than not were treated with envy. The students

seemed to enjoy the instructional periods where their physical

involvement, game-playing, or vation of tion

generally held :h'ei: interest. However, the pen.and paper

activities did ot engender as much-enthusiasm but; once

; 1n1t1ated, seemed to hila their attehtion. - (And. it appeared
that success with thése exercises was important to, them.)
By, and large, their offorts met with success.in the practice
exércises. The review ‘tests indicated that students seemed
to understand the conhectives they had been working with.
The 30-minute -period for instruction or practice always -
began late in the day, at 2:00 or 2:30 p.m., thus students
were not so fresh or keen at this time of day, and sometimes
difficulties or grudges were carried into this class from
conflicts that had arisen in their home classroom. Scheduling
problems prévented this intern from changing any.of the

periods. The rate of absenteeism often caused long delays

s i ol i
in ng with the i ip and sometimgs created large
gaps between the instruational period and the reinforcing

period. For example, the function. of a connective might be
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taught on Thursday to a group of four. If a student from
this group was absent on Friday, the reinforcing lesson was
not given until Monday--a three-day delay. Usually a quick
reminder of what was taught on the Jlast day was enough to
prepare the students adequately for the reinforcing period
at times when delays like these happened. However, lags
like these do seem to Support the notion that selecting out
students for instruction is an artificial and limiting process.
In addition, it appears that a sound principle of good teaching
isiviolated in such a delay. The student:should have'a chance
to préactice (with ‘feedback from the ‘teacher) what he is trying
to' Jearn as soon as possible after the instriction has been
given. The usual twenty-four hour ie}{y aid not -seen to

post any serious difficultjes in this regard but.on two'or

three different occasions lenger delays added five or ten
minutes, onto the reinforcing period to allow re-explanation

of the last lessom.
»
IV. Summary
It is difficult to judge the effectiveness of -an e

1nternsh1p of this kind, as the bulk of the instruction was
geared primarily to five of the twelve students. (This was
because four students showed ‘mastery- of all cennectives
except thus, two shwed mastery of all caxmel:tzves, and one

student dropped out of school). These five st\xients failed
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to show mastery on a total of 33 test items on the pretest.
On the posttest, they failed to show mastery on a total of
28. How Student G may have affected the outcome of the
posttest has already been mentioned, but it seems pointless
to speculate on what might have been and wiser to state
what seemed to be positive results.

First, of the five studepts who accounted for the'
great majority of wrong completions, four indicated on the
basis of the posttest results that they compzehendeh more

connectives (of the 14 tested) at the end Of the internship.

Second, considering. all the | there was a
. 22 percent reduction in the number of wrong completxons

from pzeceat to polttest (149-—113)

Third, both the! intern and ‘the homeroom teacher
noted many Of the st\ﬂé;;tg experimenting with the use of
connectives. FPor example, it was not too uncommon to be
met at the door with a comment such as *I watched the late
show last night sir, thus I am tired today.” In addition,

if students met in their class work a connective that they

'had recently enco %ed in the i ip, they would

indicate s6 to their teacher. This seemed to demonstrate

an inc ! 7 of : , i

- V. Conclusions

The students of the internship seemed to lack

e >
sufficient practice in making the conhection between events
2 ¢ ° N
- - i
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or ideas. They did seem to know the méntal operation the
connective represented when given instruction. The intern
makes this judgment on the basis of the ease with which the.
students seemed to handle the reinforcement exercises. Here,
however, the function of the connective would have been ’
fresh in the minds of the students. At the time of
instruction and reinforcement, then, it appeared that an
appropriate amount of time was being used for'teaching and

. practice. i

Hovever, in reviewing the posttest results; one notes

that, of the 31 instances of non-mastery,’ 19 were conmectives

in'wlich various students recéived instruction'in the intern- = 'l

ship: ‘Thus, at the end of the internship, it appeared that.’

onie-half hour of instruction was sufficient, but one-half
‘hour of practice did not allow some students to internalize
the functions which certain” connectives signify. In other
words, the kind of mehtal ‘bperation signalled by various
connscsivenitag motacong automatic. '
This notion can’ be Supported when the intern recalls -

that, within the internship,” students séemed to grasp.the

function -of a connective more easily-when they were exposed > =

o two events (such as turning on an unplugged radio, and
the rgd'io remaining silent), and,asked to connect the two
events using thus. (The radio was hot plugged in, thus it
aid not come on). - Opposed t6 this, the students did not - =’

seem to grasp the role of the connective as-readily when"
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they wére asked to complete a'sentence such'as the following:
"The radio was not -plugged in, thus ." It seems that-
the student in an example such as this has failed to realize
the significance Df‘ the clause (as an event), an;i likely )
sees thus as merely the seventh word in a string of seven
(despite the comma), rather than'as a p{votal point upon
which a ‘turn in thought is signalled. :
It is noteworthy that thus, one o: the _more dxfncult

connectives, was mastered by five out of ni_ne students on i & o

.the' posttest (where' only two out of twelve had ‘done so ‘on,

the pretest),. and was the on'J.y connectwe to. receive more Ly _' & :

“than, the usual 30 ‘minutes for u,struc:_icn aha30 minutes for

' practice, ‘having received ‘double’thd amount of tife in both

. instances.

‘In view Of what seemed to be insufficient opportunities
for these studex{ts_ to make relationships, it Iikely would have.
been wiser to have taught ccnnecéxves in.a classmum' seteing
© = _ where the opporturuty to reinforce the concepts leaxned would
have been greater. There was little; if any, integration of

what was done in .the reading center with classrnom 1earn1ng

|1t seems that the.primary considération should: have. béen to .
| provide ‘as many.opportunities as possible for students to et
nake relationships) as this cognitive function scems.largely

to have been neglegted eaxher in their ‘education:

z. A aenmency in readlng sk;lls might “have contr).but:ed

to-many. of -tHe inéorfect cémpletions." A aiscussion of possibl_e,
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X .
insertions "and omissions has already been given earlier in M
the analysis of the results. It is “°f too speculativg tr‘a
Suggest that, often, students of the type described in this :
internship, do not demand precise theaning f-rom what they <
read, and seem content to extract from print whatever meaning

approximates their own experience. Although the pretest and
e

posttest used wo:ds that should-be knwn by e en end of of the—"

pr.ma:y gxades. the use of . such wqxds does not, of couzse. ‘

ion. becuuaa che tudent may bg.g.

unaware of the upmannc or syntactic values of these votds :

A & S N 'rhe general language _defxciency ot these studem:s -

3 o Bl - " (see Table - 1, N 13) mi.gh!:. have contri.buterl to theix: choosing

mcorrect comp).etions. An u.nderstandinq of how t_heu: lam;uuge L
worked' Likely would not have permitted !tndents to choose.
cmpletions which were grmtxcally 1ncon§xstent, as in "

"ihe boy saw. seven children and one of them said,” a sentence

which requires, a direct o{aﬁegt, or as in "He Came into the WP 2

house when' it will rain,” one which employs incorrect tense

of the verb. -

* > ' WI. Recommendations
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‘,

’ i ;
{; : of.relationships in general befgre accenting specific kinds

&

of relationships. In effect, students must be encouraged
to see if and how things or ideas could be related. Here
it seéms of paramount importance to provide much pr‘actice
. in making or seeing relationships, and in using as frequently
as pos;ible the structures that indicate these relationships.
For example, the teacher may read aloud and then, with the
children, orally compsr.e the different approaches that two
characters in a story may take to solve a problem. The
teacher might everi discusg the kinds of thinking implicit
v in the selection (for example, cause and effect). This
\' could progress to writing a compléx sentence on the board
.- 'and demonstrating the relation of the various elements that
‘ ° convey the meaning. . ' -
2. " Teaching Comprehension of connectives in prvint should
. be included as an important part of the overall ;.‘eadinq program.
. ©  An aspect of this program should demand that preCise and exact -
“meaning be obtained by the student, particularly in those
L passqgés that employ connectives. For students like the ones
described in this internship, it would probably bé useful for

the teacher to hear them read the sentences employing con-

Mectives. In this way & clearer assessment of what contributes
to a student's difficulties might be obtained. In addition,
.‘readipg-ingtxucﬁicn for students who show difficulty compre-
\ : henqing'c}.nneccivgs should stress. the inferential skills of .
3 comprehension. ‘Practice in gemeralizing, comparing, and ’
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anticipating ,outcomes takes the child out of the realm of
literal comprehension and into interpretative thinking skills.
Here the c‘hild is asked to di;cover relavt“ions among facts
and ideas, not just remember them. When called upon to
express his interpretation of various relations, the student
would often have to convey his meaning in sentences that
employed connectives. In such situations, the teacher should
not be content to allow expre;sions which employ con;lectlves
that do not afford precision. For example, if the student
means "The policeman fell, thus the fobber got away" he,
should not be pefmitted to say "The policeman fell and the
.robber got away."

3. Development of language proficiency ‘in general would
probably help these students to develop their understanding
of the way connectives function. Tt could be argued that
if students are unaware of the way .groups of words work
together to convey meaning, they cannot fully appreciate a

)
connective as a device that relates these groups of words.

It is now widely accepted that sentence structures are central

in the communitation of meaning, and if students do not use
syntactic cues as an aid to comprehending a st;ucture such
as a clause, it is not likgly that they will use syntactic
cues to understand a more ‘complex structure that' tmploys
connectives. It would thus seem advisable that in teaching
the function of a connective a8 that of joining clauses, the

student shbuld have a clear.idea of what constitutes a clause.
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In other words, the student should know that a clause is
a subject-predicate relation wherein a subject is identified
and some information about the subject is gi‘vsn. The intern
has already provided examples from the internship that seem
to demonstrate non-awarehess by some students of how morphology
and gyntax contribute to meaning within clauses.
About the Testing

The intern 'h.\s tried to explain to some extent the

posttest results by suggesting that students may have

that were at removed from their
exdurlence, or wire of adittistie drammationl onstruation:
In additfon, there is the posslbillty ‘that students simply.
have not used.often enough strictures that employ.connedtives,

In other words, as Piaget (1926: 72) .says, they have not been

‘called upon to "argue and collaborate." A final consideration

is that, despite instruction within the internship, ‘the’
students did not demand, precise meaning from the test items. »
Apart from the explanations offered above, the post-

test results are disconcerting in that- they show some comnectives

- not mastered on the~ posttest which were mastered on the pretest.

1f similar tests are devised in the future, especially for
students of this type, it would seem advisable to insure as
much.as possible that:

1. The sentence’fragments and completions for each
connective tested on the pretest and posttest be consistent

4 .
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in their relation to the probable experience of the test-
takers. For example, "He will take his book to school where
he can use it" is likely closer to the experiences of a grade
six student than is the sentence "She will want to live
where she can get a new house.” N

2. The sentence fragments and completions for each
connective tested on the protest and posttest be as similar
as possible in their syntactlc and semantic structure. For
example, "He gave her some money- which was not his" contains
an indirect object without the 'to' and a connotation of
the word 'gave' which may not befamiliar to the student.
On this item seven studéntsmade errors in the completion.

Compare this with "That was the game which ran for a long

. ‘time" which 41l students answered correctly. One can easily

argue that although ﬁ is a word of many denotations, and
may carry cerfain connotations as well, the sentence above
describes an experience that should be quite common to a
grade six student.

3. The * fra and let for each

connective tested on the pretest and pdsttest be as similar
as .possible in'their demand for attention to the ‘role of
the connective to obtain precise meaning. . For ‘example, in
the sentence .fragment "He ate too much cake, thus _ e
one is not only prepared for a conclusion by cueing in on
‘the connective, but the phrase "ate too uch" also allows

ox;e to predict. the likely outcome of the over-eating. In

?
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this item, every student answered correctly.. However, in
the following fragment, "The woman had a man with her, thus

" all nine students completed it incorrectly. It

seems obvious that, here, the ogly predictive cue to,prepare
one for a conclusion to be drawn lies in the connecnve.
and the content -preceding the connective provides no clue
as to what one might expect to follow.

The intern is not suggesting in the above that certain
sentences should not be employed in a connectives test, but
that; in terms of the _three aspects just mentioned, every
sentence on ‘the px‘etest have a similarly constructed sentence
as its counterpart on the posttest.

In the final analysis, it appears that, for t.hese

students; comprehension of‘c}aqnec:wes in print depends ugon

_ more ‘than knowing the mental operation signified by the

connective. Apart from suggestions mentioned earlier, it
likely depends as well upon understanding the concept of how
relationships are manifested in language structures, that is,

d in cl as well as how

knowing how are cont.
clauses are related #n sentences. It seems that students of

the type described in this internship also needed instruction

ir what constitutes simple, , and 1
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LESSON 1

Puzgose
To show that and functions as a connective by joining

two ideas such that the second is added to the first.

Procedure
A. Say to the student(s):
1. 'Take out your pencils Write your name..

2. Take off one of your shoes. Measure the width
of the heel. k
3. Take everything out of your pockets. Make a
list of what you have.
Lead the students in a dffschssion of what they '
‘did. A question like "What was the first thing
I asked you to do?" usually should meet with the
response "You asked us to take qut our pencil
and write our names.”

Discuss. with the students how they do not expect
the instructjons to end with the initial sentence
but await adéitiunal instructions. (particularly
in the second procedure). This discussion
should encourage’ students to suggest that
"something is lacking, something has to be
addéd X

B. Now say: We are going to write down the three
things we did above (at the outset of the pro-
cedures), but before we do, and to help us with
the way we will write down these experiences,

I want you to £i11 in the blanks with the word
you think belongs there.

1. Hother washed the clothes put them in the
dryer
2. Dad untied the dog = took him for a walk.

3. Bill cut the grass ~ weeded the garden.




In the above it is vital you lead the subject
into choosing and, stressing the function of
the connective in terms of adding the second
idea to the first.

(o35 Now I want you to combine the ideas in each
of thé following pairs of sentences into one
sentence using and.

1. Take out your pencil. Write your name.

2. Take off one of your shoes. Measure the width
of its heel.

3. Take everything out of your pockets. Make a
list of what you have.  (If necessary, provide
an example). >
'
D * Oral exercise.

In each of ‘the fullowing pairs of sentences,
one sentence makes sense, and the other
doesn't. Discuss the reasons why this is so L1y
(It doesn't make sense to add the second ide: I
Can you think of alternatjves for the ones

that don't make sense? P

la. Jack had no money and the boat was red.
b. Jack had no money and he had ho job.

2a. Tom threw a snowball -and he broke the window.
b. Tom threw a snowball and he has a black dog.

3a. Mary brushed her hair and the door is green.
b. Mary brushed her hair and washed her face. -

4a. Bill raised his hand and it was raining.
b. Bill raised his hand and asked a question.

5a. Don hung up his clothes and cleaned his room.

b. Don hung up his clothes and it was donday,
January 30.

Reinforcement Exercises K '

A. Use and to add more information to the first idea
_in completing the following:

1. I like apple pie




2. The weather is getting warmer
3. She had a bad ‘headache

4. You are my best friend

5. He is getting better

B. Use and to join thé idea on.the right that best

makes sense when added to the idea on the left.
1. Their house is beautiful a. he is very mean’
2. You are very sick b. I enjoyed it a lot.
3. T read the book _c. it must be fixed.

4. My car is not working well d. it hasanice garden.

5. Your dog is moisy: e. you should see a
doctor. .

c. “oOral exercise.

j

The. following could end'a sentence:
and he took his dog with him.

Canr you thipk of sevefal (3-5) different begin-
ngs’ that would make sense when this ending is
‘‘added to them?
D. ° Ten items are placed on.a table so that there
are five distinct pairs; for example, a razor g
and after shave, an envelope and a stamp, etc.
Ask the students to view the table, requiring
them to write five sentences, including in each
sentence two ideas joined by and based on'two
items that can go together. Example: Tom
addressed the envelope and put a stamp on it. [

. LESSON 2

Purpose
To show that or functions as a comntctive by joining
two ideas such that the second idea is offered as an alter-

native to the first. . . A




Procedure

A.

X

a
b.

Place sufficient apples and candies on a table.
Tell students they may have one item.

Show pictures of a sports car and a van.
Ask the students to pick one. -

Using small identical containers, fill one
with quarters, the other with dimes. Ask the
students to pick the one they think has the
most money in it.

Lead the students 'in a discussion of what they
did. Develop the idea that when one picks the
apple as appcsed to the candy, one is making
a chodce. - )

‘Now state that you are going. to e te down how

establishing the: form they widl use.

Tie-your shoelace | you-will trip. over it. .
Water the plant it will die. \
Give me my pencil - I will tell the teacher.

Now I want you to. combine thé ideas in each
of the following pairs of ‘sentences into one
sentence using or.

Here is an apple and a candy. You may have ‘orié.
Here is a sports.car and here isa van. Pick one.

Here is a container of quazters and here is one
of dxmes. Choose one.

Oral exercise. .

Tf 1 wanged to offer somebody a choice between
cake and ice cream for dessert, how ‘would. T ‘say
so using or?

If 1 could have only oie, present for'my birthday,
would I say "a" or

I'd like a bike and I'd like a radio, pleasé.
I'd like'a bike or I'd like a radio, -please:




Reififorcement Exercises L ]

A..

¥ bave’has puta St an his ﬂéd;g car..

Mary'can.--

»

Which makes sense below? Why? (Which offers
the choice?) :

He will have'to behave in schocl and he w»ll

,get a bad report.

He will have to behave in school or he will

get a bad repcrt. . o -

Using what happens in’»_;ach of t%ntgnces
below make up a. "sehtence usifig or give
the persv:m mentioned a choice between- two
“diEferent actions. he/she might take:. s

a|

Bxampla: s Sushn hit her frxend thh ,a snowball.

Solution Susan can’say,: "I névex threw the
snowbal]: T ok she can say, L gy sorry."

Jane has torn her fnena's sveater
Jane can

Dave can'-

Bill has found a purse with money ‘in it.
Bill.can -

Bob is 1gst in ,the woods.
Bob can - =-

Mary has broken her TaathaE sa vane, ¢

Jbhn.has been kept in aftexr school.
John can = )

Don: sees ‘someone’ in class.cheating on a tes
Don. can == N %

‘Pete thinks his fnend has stolen “some money. -
Pete can - i

an has burned’ the meat she was havxng for suppet.
Mom can -=';

Dad has, forgotten i gon's bii-’thd'qy ‘presen
Dad can -~ ¢
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> Procedure /-

\Pate. que Gord this dime. Gord, put it in ydur
pock 2

v' Gord, giva Ji.m this aandy.»
‘pocl]

60

Use or to join an idea on the left with one on
the right. The resulting sentence should provide
a "sensible” choice between two alternatives.

“You must tell him you're a. she will not pass
sorry the test.

He should go to bed now b. he will have to

buy a new one.
She will have to study
harder

c. you will lose a good
friend. -
They should keep their
dog in the house d. he will be tired in
the morning.
Bill must get his car
fixed

1
LESSON 3

To show. that however £ i as a ive ‘by

two ideas, the second of which is adverse to the

Carry out the follov:.ng with various students:
.un, give Pete this dime.- Pete, put it in your

Gord, g:lve :.'Lm t.his dins. «Jim, you give it back

im, put it ip your
B, - S

Pete,” qi.'ve Gord this candy. Gord, .put it in
your” B "

e. they should tie him on.

.
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s ) 2.

‘She said it was bad;

back to me:

Jim, give Pete this candy. Pete, you give it
back to me.

Jim, give Pete this decal. Pete, put. it in your
pocket.

Gord, give Jim this decal. Jim, put it in your
pocket.

Pete, give Gord this decal. Gord, you give it
back to me.

Lead the students in a discussion of what took
place. Help them to realize-that what happened
in the third instance in each case was unexpected
in light of what preceded it. (The others get
to keep their item; in addition, you don't
normally give something to someone and request
it back immediately).

Indicate to the students they have to write down
what happened in the-third instance 'of each case
and to aid the development of transcribing these
experiences, have them identify. the word -that
belongs in the blanks below.

it vas good. .

It looked like it was far; it was near.
- : -

Yol think you are ‘strong; " you are weak.

{(Students, may well suggest.but in the above.

If so, it may“be demonstrated how but and

however are synonomous by using teacher-supplied
sentences. Articulation of the samples would
allow the teacher to demonstrate the greater
emphasis placed upon the adversative relation
with the use of however. In addition, to further
note the antithical function of however, attention
may be dfawn to the contrived opposites [bad—qood,
far-pear, etc.) in the above sentences) .

Now I want.you to comb1ne the ideas in each

61

of
the following pairs of sentences imto one senterce

using however. -

Gord gave Jim the dime. Jim had to givé it ‘back
ome. . ® o

Pete gave Gord the camdy, Gord. had to give it

-




Jim qave Pete the decal. Pete had to give it
hack

\Oral exercise.

Use however to complete the following Sentences
with something you normally would not expect for
an end;n

That boy is very small; however, »

She is sick; - however,

He is over eighty; however,

There was a bad blizzard; however,

He turned on the switch; however, 4

Reinforcement Exercises

A.

Oral exercise. L

Use thé word however in a sentence to tell.about
the following people doing scmethlng they, probably
would not usually do.

Examplas Sam, who ds not hungry,\gatmg a 1arge
meal.

Solution: Sam was not very tungry, however, he
‘had an extra big supper.

Bill, who is not feeling well, going to school.
Jane, who has a headache, going to a party.
Bob, who dislikes qi)fls, asking Sally' to the dance.

Mike, who, is afraid of horses, pav.mng abig
stallion.

Ann, who prefers cold cereal, eaung hot_cereal
for breakfast ;

Considering the “be ozinn:mg belou. use hovever to
complete the folloding with the oppus).te ofs what
you might »expect.

£ 5
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] .
Mary fell from the roof of her house

Tom stayed up all night

Susan ate nothing all day

The car was wrecked in the accident

Bob was hit by a snowmobile

In the following sentences, however is misplaced.
Reurite the sentence placing hovever where it
more properly belongs. SN

I was invited to her however party I'm not going.

She wanted to.
I wouldn't take

ive me two dollars for the errand
wever it.

The however coach asked me. to play left wing I
told him I was a goalie.

The boy punched the girl in the however face
she did notexy.

Tg baby fell down hewever the sta).rs she dld
t hurt herself

(If students ‘should suggest the fouwir&q:

The baby fell down the stairs.
however, hurt herself.

She did not,

OR £ “
ot T

The baby fell down the stairs. She did not hurt

herself, however, - . i

some digcussion; 1nd1cat1ng the degree of emphasis,

of the various fqrms may be helpful. Atcany :ate,

indicate to the studeént,we are dealing if' terms .

of one sentence only,,with the practice,’ for this

incgmship, of locating the connectxve towards

‘the'middle of the sentence).
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LESSON 4

Purpose
To show that but functions as a connective by
relating two ideas, the second of which is adverse to the

first.

Procedure 4

A. 1. Ask a student to open a locked window (without
touching anything but the handles).

Ask a student to lift you completely off the
floor (while you are sitting down).

3. Ask a student to turn on a 1amp (which contains
a burped-out bulb).

Lead students in-a discussion of why they could
not succeed at their tasks. Help them to verbal-
ize that the lock prevented ‘(worked agalnst] the
opening of the window; the weight of the teacher
worked against the student; and the defective
bulb worked against the light coming on.

B. We are going to write down how these various
drawbacks worked agamst the attaining of the
goal, and to assist us in establishing the method

a ¥ by which we can do this, I want you to identify
what word is missing in the following blanks

1. The teacher said that the test was easy
I found it hard. i

2. It was cold in the x1v1ng room it was warm
in the kitchen:' = .

3.7 I 'thought my coat was too big ____ my sister
.. #thought it was too small 1

Cui- .- Now I want.ycu to combine the ideas in each of
d the following pairs of sentences into one
i sentence using but.




‘the driveway? (the wind)

John tried to open the window. The window was
locked.

Mary tried to lift the teacher off the floor.
The teacher was too heavy.

Joe turned-on the lamp. The bulb was burned
out.

oOral exercise 4

Bill wanted to watch TV but his mothnr told
him to do his homework.

Ask: What is working against Bill watching TV?
(mother, wanting him to do homework)

Tony thought the movie started at 9:00 but it
started at 8:00.

Ask: What is working against Tony getting to
see the whole movie? (the earlier start)

Mr. 'Smith tried to shovel out the driveway
but the wind kept blowing the snow back in.

Ask: What is working against Mr. Smith clearing

Mom gave Sally two dollars\for the book but
Sally needed three dollars

Ask: What is working agaifst Sally getting
her. book? (the neeﬂ for dpe dollar)

Joan tried to plck up the pardel but it was
too heavy for her. 8
Ask: What is working a
the parcel? ' (the weight)

nst Joan picking up

(Students may need help in accepting some sentences
at' face value. For-example, in number four a
student might suggest that what is working against .
Sally is that her mother is poor. -Some discussion
might be generated as to'what the sentence tells’
us-=Sally needs three dollazs)

e
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Reinforcement Exercises

A.

1.

2,

Use but to join an idea on the left with the
idea on the right that best goes against it.

Jane looked everywhere  a. it was an accident.
for her purse

Susan washed the dishes D he still feld cold.
; c. they could not get
Bill broke the window e o

The men pushed as hard 4. gpe @id not find it.
as they could

tie put on another e. she @idn't dry them.
sweat .

Using but complete the following. Base your
completion upon the opposite of the part
undexlined.

Exanple: We thought the new basketball player
was tall

We thought the.new basketball player was tall

but he turned out to be smal

We looked for. the soap above the sink i
The teacher said Tom was absent *

Susan’ should have been happy today

The man looked as if he was dead
The team expected to win the game

Each of the following sentences contains two .
ideas; one of which works against the other.
These ideas are Joined by hut. Unscramble -the
following:

lost book I yesterday my but today I it found

'
nght but there was - TV picture was all the no
sound.” .

car my you lend I would it but need I:
they do wanted but movie siowing to the badly
t

to was i

4
T

LT
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5. okay felt he said but he looked he sick very.

(Where there is more than one possible answer
the teacher can point out that there are still
two ideas, one of which works against the
other). For example, in number two:

The TV picture was all right but there was no
sound. 2

The TV sound was. all right but there was no
picture.

(The teacher can show that in either case one
idea works against the other to prevent full
enjoyment of the TV).

. LESSON 5

- Purpdse .
- To shéw that thus Functions as'a comnective by,

joining two ideas, the second of which'is concluded from

the' first.

Procedure .

A. 1. Send someone out of the room. Have another

student remove an item from your ‘desk, say a
© . 'pen. When'the student returns to the room,

_inform Him that you.want him to identify the
person who took a pen from your desk, and you'll
provide a clue--the person is the one wearing
the blue shirt (naturally your clue will apply
to-one- person only) . g

Ask: Who took the pen?

2. Using: -two containers, one snmewhat smaller than
the other, fill the larger one with water and
say: I'm.going to pour the water in this
container (the 1argez) into this container .
. (the smaller)




C.

3.

2

3.

k1

2.

3.
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Ask: What will happen? k

Have a student count the number of pupils in
the class, then count the boys.

Ask: How many are girls?.

Lead the students in a discussion of how they
knew who toek the pen,. etc. until such time as
it becomes evident that the students realize
that they deducted or concluded their answers .
on the basis of given information.

Now tell them that they are going to write
down how they arrived at their conclusions and,
to'aid them with the format, have them fill )
in the words that belong in the blanks be}dw

The hockey player tripped his opponent ___
he'got a ‘two-minute penalty.
Ther® was a very bad ‘snowstorm the students
had a holiday.

i vebidned the _purse he found . he got a
five dollar reward.

‘(Difficulty may be encountered Merd st students”
suggesting so thexefore and na one mention-
ing thus. If o es still don't supply the
answer thus. (for example, it rhymes with bus),
the 'teacher will- likely have to demonstrate the
synonomity of so and thus through his own examples.
“/Mention might be made Of the more formal,nature

of thus, as well as its role in emphasizmg the

act of deducmg more than so does n

/Now have the students comblne the 1deas the
following' pairs of 'sentendes into oné sdptence,
* using the word thus.
i »

The person wearing the blue shirt took my pen
(and Tom is wearmg a blue shirt). Tom took ~
my. PEI’L - ¥ '

I'm po\ming this: (larger) container full of
water into this (smaller) container. The
(smaner) one will overflow.

There are fwelve students wyin'the class (and
e1qht’are boys). ‘Four are girls.

=

#

i




- ’ 69

Oral -exercise.

Can you create a sentence using thus to show
how you might reach.a conclusion on the basis
of the following information? For example:

Information: Put five people in a boat designed
to carry two.

Sentence: The boat carried too many people
thus it capsized.

Going out in cold, damp weather without a hat
She went out

Driving too fast on an ‘icy road’
He was driving 5

Leaving food on the burner for too long
Mother left

Reinforcement Exerci

A.

1.
2.
3.

Use thus to join the idea on the right that is
best concluded from the idea on the left.

The camera ran out of a. he didn't see who
£ilm .7 won.

There was nothing to- b. he couldn't take
eat in the house any pictures.

Joe fell asleep watch- c. she took it back.
ing the game

Bill ate and drank d. they went out for
too much ‘ their supper.

The milk mom bought e. he was sick this
was- sour moxning.

Use thus to complete the following, indicating what
you might decide on the basis of the first idea.

The man was caught stealing money
The airplane developed engine trouble _

The children were shouting in thé classroom




The house caught on fire
The woman was hurt in the accident

Write a beginning idea that would have you
conclude the following:

thus the dog had to be put away.
thus the field trip was cancelled.
thus the car was towed away.

thus the boy missed his lunch.

thus she couldn't write her exam.

Additional Teaching Exercises

A.

2.

(Concrete experiences are provided as in the
Procedures above. Students are then directed
to record these using thus by combining into
one sentence the ideas in the following palrs
of senterices).

Pete gave :Jim a dollar and. Don’ gave Jim a.
dollar. Jim' now has two' dollars. y

On a balance scalé, a ten gram weight is
placed on the left, a five gram weight is
placed on the right. The left side goes down.

I hold a coin in .one of my two closed hands
and expose my right. It is in.my left.

My fountain pen contains an empty cartridge.
I cannot write with it.

Jim calls Pete several "bad" names. Pete
hits (wants to hit) Jim.

Oral exercise.

Complete the folléwing with a reasonable
conclusion on the basis of the given idea.

The knife is dull thus

My watch is broken thus




3.

4.

10.

The movie was restricted thus

He left his summer tires on the car this winter
thus

The car was wrecked in the accident thus

Underline the word in the brackets that best
joins the idea that comes before the brackets
with the.idea that comes after. It may help
to remember the following:

thus = "because Of this" ... however = "but"
Example: The hockey player tripped the goalie
thus_(because of this) he got a two-minute
penalty.

Example: It looked as if it was far, however
A(but) it was néar.

I was invited to her party (hcwever, thus) T

‘am not going.

" Bob fell from his bike (thus, howevez) he did
not hurt himself.' -

Susan‘ stayed up all mqht (however. thus) she
was not tired the next day. -

Jack fell asleep wa'tching ‘the hockey game |
(thus, however) he didn't see who won

The students were noisy in the classroom (thus,
However) they were kept inafter school.. v

The boy slapped the girl across the face
(noweyer, thus) she didn't cry.

Betty had hardly anything to eat all day
(however, thus), she wasn't very hungry.

The bus was heavlly damaged in the accident
*(however, - thus) the people were not hurt.

The man was:caught x‘obban the bank (however,
thus) he was.arrested.

It started to-rain very hard (thus. however)
the picnic was cancelled.

R ) ¢
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2,

3.

- 4.

5.0

6.

7.

8.

9.

10.

k1

12.
EW

140

FIRST REVIEW TEST .

(The results of this test may be used as an
@dditional teaching exercise)

Underline the connective which best joins the
idea before the brackets leth the idea after
the brackets.

Clean your room (and, thus) put away your
records.

You can wear your new codt to school (but, or)
you must not wear it to play hockey

The qirl went on a trip (thus, hawevet) it
will be a very short one. N

Give the dog some. dog food (or; thus) give xt
some scraps :from the table.

He got tired near the end. of ‘the race (but.
thus) he lnlt.

I ioxqot my books - (and, or) I forgot my lunch .
The mominq was nice “(o¥, but) the ’aft'e:mon
was not. ~

She is unkind to me (bmver, d’lus) I still
like her.

I will go to the movie (or, thu!) I will go to
‘ the dance.

She forgot to turn off the st.ova (thus, hcwevet)
the cake was’ rumed. N

I am very cold (and, . but) I would hke a cup
of ho: cea.

'mat horae is small. (or., bur.) hs is very fast.

Thank you for the kitten (howevar, und) Dad
said I had to give it back. . i

Youcan help your mother. with the dinhes (but,
.ur) you can hslp me shovel:the driveway.:
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-Procedures’

15. He ate too many fatty foods (thus, however)
he was overwpight.

LESSON 6

PLIKEUBE
To show that when functions as a conne‘ctive by
joining two ideas, the second indicating “at the time® the

first occurred.’

Have the students press several of the buttcns
nally the

on
et batron, . 1ox

Have the students buzz jthe’ secretary on the :
intercom by- puumq ‘the sthch up. it

, 3. . Have the'stidentd buis thesprincipal on the”

intercom by pulling the switch down. . e
Lead'the students in a discussion revolving
around questmns such as (with regard to the
.switch) "When do you get the principal on the. ..*
“intercor

Some explanation may bé nece: sury to dlst:mq\ush
between specific "clock time" and the more' - -
general Qt the time" some . event Dcc\irs.

Nou indicate that tne experiences ]\Jst encountered
‘will be written down, and.as' an -aid in/establisHin
the -format by which this will.be done, you want

-’ the’ students to identify the word missing in.
the fullnwinq blanks. .

) “1, .Bill'was sent t5 his room he came- home
. \late:

2. Mary was. :eally pleased % Her'mother bo\xght
i Her a ey dress. o

3 Father was angry T:un bzoke his btanﬂ new

bike. .. T ¥

g




& . : o7
. . 3 s y
> . (Any student choices such as because, as, or
: . after could probably be -eliminated by Teminding ,
-, the student of the time element relation).

c i 5 ., “Now Gan' you combine the ideas in the. fnllwmg :
¥ o ' pairs of sentences mt‘o one sentence ‘using when. . .
3 | 1. T'pressithie eject button. I want the'tape. fo s

it . ; cﬁme out. 3 . : 5 -

2. T pull ‘the
"7 secretary. .|.

tercom sw‘tch up.. ;I want the

. 3.0 1 pull the intercon §w1tch down.™: T want the : :

L principal. o . o o
+D. Oral exercise. s i
s ] \ .
Complete the fo‘l.lowmg to show at what time S °

each might.occur.

1.7{1 gat' mad .when

. S 2 amhabpywhen

P 4 . 3.4Iam su:pnsed when

il ;4- .'I qet nired when Ty A : . i = .
.~ 5|t feel good when < . -




1.

3.

4

. Hhe'

Mary shouted when her brother pinched her.
¥hen aid Mary shout? '

*, The. thief ran when ‘he saw the pollceman.
When did the thief run?

The. player 'scored when the goalie left: the net.
whén dxd thé player\—score”

er .got..mad when the student became saucy. "

ach
b When did the teache: get mad

nost.” hdppy when he'is xeadmg,
is'Tom most happy? t

use when in” completing these sentences to show
at what time the event occurred,

1.' Pete just finished lus test . - y
2. r Betty was asleep o 'yb

3. n‘om was cooking ) Lok .

4. Jane bought a. recard i

5. Tom bx’o;e his arm : : .

o LESSON 7 4-

.'Have one studem: tap is desk for about twenty Ve
seconds During this time have. annther student

stamp hm Eeet

‘Have’ r.me studant §tand
anothe: student [+
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Larry wrote his’ essay

- B tapped

. Jim stood up for twenty seconds.
_time Jeanne crouched. i

‘Pete did ten push-ups.

Have one student do ten push-up§. .During this
time have another student do ‘ten ‘sit-ups.

Lead the scudents in'a discussion centering .
around questions such as. "During what ‘time did
student B stamp his feet? , etc. It may be
necessary to point out.the ‘distinction betwee‘n
"during”.a time and-*at” a time.

Now indicate ‘thaf® the experience
will be written down, and as an:

Just encountered

the students .to identify the. vord missi
follwing Blanks: o’ g S e

hé. et i ciman Wauld ot ‘shoot 4 Ehe robber
held a hostage. :
Tom could not sleep ‘the party gas going on.

his s'iseer- was
sleeping.

Now, dan you ccmbine the ideas in’ the followmg
pan:s of sentences into one sentence u: 1ng while.

‘his- desk‘, During this t' 3
stamped his feet. . bl

During 't

During s’ time ;‘Mark

- did ten sit-ups;

Compléte thesé. sentinces ile éo tell

sing while.
-durmq what time the follovung events qccurted
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Reinforcement Exercises . < 3 ; 3

A. Use while.to join the idea.on the left with the
idea“on the right which best shows. duxinq Hhat
time the one an the. 1e£t ‘occurred. -

1.° Jim. d;dn‘t St supper L his brother played :
s thg guitar. = ORI .7 o
= e ; Boh_.hevgz smked' wrtt B the teacher e_xphj.ned $U0E b
', ? e : 7T the wotk ; .
i Sally listened care- .’ his favourite [TV show
_fully % ¥ was on.
. No oné should drink: d. he was in the “hou |
5. Bill sang $5 7 Veys Be gk dnvm' 4 v
"B.  ~gill in the beginning of these sentences with . < ..

.something -one miqht be doing during the'times i ‘ g
indxcnted in the follcmmg. A . ; & 3

. while you’ are eatmq.A . ; " l
.whilathe'l‘v.ison.v : st SR T V]

wlnle she list ed ho (-.he ndio.




LESSON 8

‘Purpose

To shcw that' which. joins two. xdeas, the second 0f "

rwhlch Speclfles the fn:st

Procedures o A v s :
: ; ;& Lay out,a penny, anickel; and a dime:in a st#aight
AT 3 row. - K ¥

,1. Say to a student: "Hand me the coip (pause),

“the coin on the righy." X =

5 2:  Say: "Hand me a coil (pause), the coin in the
middle

.- /3. Say:. "Hand m c&in .(pause),'tne coin with the. -

least value.

. . . "'Lead the studénts J.h a dxscussxon -to discnver how
A 2 you - obtained the' :coin you.wanted (i.e., ))y -spec-
. ifically-identifying it). This’
Ted Lt enaquraggd with questions such
'the coin on"the right!.whdt did I.dc?'

you: “know T wanted .the penny?" Y

ikely the student Hlll say fhich 4 -
e ause above, ‘the question "What

S - ... -did you say when I first dsked you to hand'me: .
by “the coin?" will ‘almost certainly produce’the :
. désired response enabling the teacher to press :
“ . :“ on with "What do you wan&{ng £o.do. when: you say.
v 'which une?'" J :

; 2 g Qhe ‘fotmat by which. this will bedone, you
: "'the ‘students %'dent;fy the ward russmg in the
follow ng: blank:




(Students may very well need an explanation of
the difference between that and which, with the
restzmted use of which being pointed out; that
is, it .is not used to refer to people). ¢

(o8 W, combinarthe idsasiin, s Lol lowing pairs of
E . sentences into one aehtence ‘using which.

1. Pass me the coin.

right.

Pass me the coin.

_ Pass ne the coin on the

middle,

Pass me the coin. in.the'

Pass me the coin.

Pass me the.coin with the
least value. i

D. - Oral exercise.

©  Answer the question that follows éach of “the
sentences.

1. Here is the pen which you lost yes;etday.
. Here is which pen?

~2. . Show.me the colors which you llke. :

- Show me, whxch colors?
35 Pass me the book which is on the desk. -
Pass fe which book? v, ;
. i ’ L4
4. Bere is the song ‘my sister 11kes.
Here is which sang?. q <
5. There is W horse which threy me. - .
* There is whlch horse?
Reuxforcement Exerc1ses : ] ’

AL i 9 Each of the -ideas on the left xs spec:.fz.eﬁ ‘by. -

ideas on the right. ‘Use yhich to join thes 1geas.

1. Dad owna the cax'
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- high hanidle bars may be written a

- are many dogs of man Qifferent “eolors

that ‘San’could ¢ f

* Exanple: Sam coul
b

- sam could choose

Bob asked his mother if 4.' is parked outside.
he-could keep the dog | T

Mom bought - ome i1k e. will bé aver 'scon.

Replace the underlined part of the sentence with
a nev, or dxfferent, spacifxcation.

Example: ‘Bill loaned him the blke wh:.ch had

Bill loangdbhim the bike which had no mud ¢ uardsv
Tim showed e’ the txu&whlch ‘was in the a

I gave Mom the shirt whu:h had been torn.

Mary owns the cat which is sxttlng on the doarsteg.
Show him the scar whu:h you haye on’ your . leg_.

Give her ‘the pencil which has just been shavpeded.

" Oral exercise.:

-

<'sam dnd ‘his. fatherihhve: Just visiten s pet shop,
- The

where Sam is allowed to pick out a dog:

make up 5 sentences %ng

choose the. dog-

red tail: |

Sam lii ehaosé_

oot
d" choose

sat 'cgum




Pur
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LESSON 9 . Q

To ‘show. ehat that joins two ideas, ‘the second of”

which: specxheu t)\s Eirst.

1

2.

3.

* specifying it).

- There is. the boy

; (Hexe, as with which, .some discussion ds: to the "

- 15 uud for: peuple,

N % S y ¢
Say to a student: "Hand me.the coin (pause], the

coin on ths left.

Say: 'Hand me a coin (pause), the coin with the
most value. »

say: "Hand me a coin (pause), the coxn with the
ple‘leat on it

Lead the gtudem:s in a discussion to dxsccver
how you obtained the coin you wanted (i.e., by
This dxscove:y can be encouraged .
with questions such as "When I said, 'The coin
on' the left' what was I doing?" “How. did you -

know I wanted the dimez” - ' -

| Those students who paztxc).pated may be reminded
“ of ‘the lesson involving which. s
Now, indigate that fhe i
wxll be written- duvn, and as an lid in establishing
the- format by which t!us will be done, you want
‘the students to xde ify the wox :mi ing in the.
' following blanks.'l = .~} . £ 4 e v
- ® DTSR e o et 9 . l
hit. me )"el a:day'. *

the coffaa table.
Kke the, pes

use’ of Which and that may again be valuable.
To .thpse Who, use Who
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that can be used for either). i
’ c. Now, can you combine ‘the ideas in the following ' E
v g Lot _Vpa;rs of ﬁentences into oB_e sentence using that? i
) Pass me ‘the coin.. Pass me the coin on the leff. :
. Pase s the coin. Pass ne the. coifhie \ne
. i e T most value:¥ i \
i 75 Pass s e qcolnk “Piss M6 the ‘coin with the ,° ok
e ol maple leafson ‘it. <" R - . . :
- “oxal exercise.’ L - e
) ’ N Spec1fy the,’ beglnnxng idea hy‘ completlng ;hé
fullnwxng .
; ) 1. T savw'a dog that S B w g ]
nT 2. Give me an idea that \'N § . . 47
! 3. He.likes the éars that et ; ) S
. She senit me-a, gift that B T
i :Wé vent on'a pionic that’ ’ ’
A - . ; o

“Réinforcement Exercises ' s (G

A.

Indicate what may. be s eclﬂed by puttlng in your ‘
., Owi bégmninqs ‘in the: ollowu\q. .

Example~ that you mude yestErday.

Each o,f the_ ideas on
on; the right.




2

3.
4.

5.

Purpose

whlcfx "places" the first.

o B0 Proceduxes'

Here are the ‘rules a. is cold.
Did you see the.new car b. you made?
Give him the bottle of pop  .c. I borroved?
Is this the dog . Dad buught'—‘

Where is the project yuu mm?

‘sPemfy the item underlined by completing the

', sentence . usmg that.

i

Could I. have the ___x
Show me the pictures
Tom could not find the game

Here is the pencil.

‘He likes french fries

LESSON 10

To show that where joins two-ideas, the second of *

“Hdve aistudent’ stand .out of xeach ef the light

switch and-ask ‘him, rei
.turn ont:" thie ‘lights.

Pt a coin behind'an” item G

Place.one’ student ‘at ‘Such

ining wnere he 'is, to

-a d
an angle Lhat he

can't identify the’ colnzwithaut movi.ng.
- ol

i so ‘that:




B4

Lead the students into statements ‘something
like, "I couldn't see the coin because of where.
I was, standing." Compadre that with the; student
- who. could. jdentify the coin precisely because.
he was inal different posxtxonu(?lace)

- Naw, :hm:ucata that ‘the experzences Just - *
encountered will be written down;, and as

-an aid in_ establishing the format by which

this will be done, you want the studénts to
identify the word migsing in the following

blanks. )

1 yo‘u shéuld go swimming® them_aga\o;hers.

2. she ‘sat down _- - there vas’a vacant. seat,

3. Twant'to go __+_'my mother is.

" {1 stulents suggest wikds: other theh Whers,, %

i remind them of thé "placing® connection).

Now, can you combine the ideas in:'the following
pairs of sentences inta one sentence usmg wherxe.

-
I.. He was standing. He couldn t reach the 11ght
- switch. :

_He was in.a.position. He couldn't “see’ the coin.
He was in a position. - He could see the co1n.

oOral exercisé. i

Complete the following to indicate “a place®
where: the action  mentioned oc.cuxs. ¥
1. shé sat where : . e e

ad hid the money where

Tom fell where 7 e

4: Betty tuuchea the cat where

5.fne looked Hhere = 5
o
lsmaenis i have tronble in »nder\standing how
_the sentancq "Dad m, he'noney where it. would
£




of the subor:hnate clause. is warranted. In
this instance, for example, importance is p1aced
on the ‘difficulty invélved in finding the place;.

‘.. not.on indicating the place? Remmd the student

that Dad could have hid the monéy in the;basement’. .

‘in_an obviéus ‘hiding place, or on the' other-hand,

manufactured a" false brlck wall in whlch to ‘hide

ity - . . i 4
3 c g

Relnforcement Exercises 7

A"

"1 Betty! stayed where there were many blueherr:.e N

Using ‘whére, join-the ideas on the right to the
ones on the left that.best .show the "place" in
~which the event on the left occurred. 3

E 5% Mom put the knife a. evexyone could see it.
2. 'Paul hid b. the baby could not get-it.

3. The robber held the  c¢. -the wolf would find-it.
‘gun : 2 ;

“This map shows nobody. would think of:

lcoklng for him.. e
Phil set the bait “ e.. 'the gold is hidden‘

Replace the underlined to indicate a dx(ferent
place where the event might have occurre
¥ example: "Jim found. the Spot wher
£ the road": may.:be written as

spot’ where the money. was hxdden.

2. Judy always went where she wasn't wanted.

3, ‘Dad Built the'ﬁct’xs‘e where he could have a. garden.

‘4. I have been m the town wheze she 11ves..




. 4. 'The to spot he moved would dog the cone where. 5 W™ o

5. You must the action‘like where to be is.

: . .7 BECOND -REVIEW TEST

5 g 3 : - ) L ;
3 34 Underln\e the word. in the. brackets that is’best’
“y . B " usgd’ tB connect: the,idea ‘that  comes be;ore thg

brackets with the 1dea that comes aftez.

1. ” Bob was-sent. to his room (when. \hile) he - 2 g
cama Home - late. i

‘ 2. “Ton ccmld not sleep. (whlle, that) the parr.y vas -
goxng on. .

Showime the model, airplane (;hat, where) yor
omade.

Paul sat (Hhe:e, which) he couu see the:. stage.

v (#hen, which) Tom broke his radio.

(whi;ch. ‘while) hi$ sister B

T teachez got ma
~ became noisy. .




3 ' LESSON 11 s g ‘

S A Procedures ; 28, e ® Sy G

A. Dev_tse a game wmgm employs dice and one. hundred
colored squares (sSuch that there are five black:
. then, five vhite, ete:) numbered 1 to 100 on' a .,

% « marker.. The:winner is the first.one to get:
B . through the board.  The rulés of the. ‘game are:..

'l‘o start the qame. you hnve to roll. abou 4

To leave
‘0dd number..
|
To leave a white ;quare, you' have to-
“even mumber.

.black square, ¥ou ! have to roll an’t

“Piay’ the gans. - After”tie' gan
in- a discussion: of-the rules,. recallmg how..one

ead’” g..he dtudents

‘advarices  in the game “(use. questions- such,
“How can'I leave-a black’ squuer'/etc.) Strive
_to'’have the"students xespond in. such a way that

.+ saying something lxke "When’ you ;throw .an add
numbe: 2

’Now, indicata ‘that the ruies or' e-ga i
‘be written down, and to aid-in establishing.
format by which this'Wwild be'done, youcwant ti
/students to: :Ldent;fy the, word : musing in: the-

followj.nq blanks- A s

e can get 4

W will take the plane Satuxday
tu:két&

" piece of heavy paper. ' Supply each player Fith'a.. .

' . ! [ they are making'a conoessiop using if andnot. . . -.




8y

-
LS

.'Reinforcement Exercises ; ik .

Combine. the ideas in‘the ‘following pairs of
‘serﬂ:ences into ‘oné sentence us)]nq if.

He can’ move tot start’ the gamé
aboye six.

‘He can move off the black square.

He must
roll an 'odd number. g
He can move off the white'square. He must

:qll ah even: numbez A .
Fbra1 exercise.

Cumplete the ‘following using if tu show that

" . carrying out.what’ is mentioned depends upon

fulfilling some condition.

You.can go- out to play if . . . i
She"will help'you with g,w work i'f

xm will play. the piano lf

You can hnng‘yo\zr f'nemi aver if

_Susan may ‘go. to\ghe danca ‘if

3.

".. J because of the ideh r_hat

‘Use if.to: joih the xdea on-the deft \nth its
condxtlon on the rie t.

To will eat breakfast oK

Hom Hl.l.l drxve us to 'schonl ‘b.‘ “he has’the time.

I wul watich ‘the hockey
W H .mﬂey.

H;.ke :.s gqing w the.

My brother will buy'a ol el
new bike ; . the car.

Some af the 'sentences belw don't make sense
comes

“the ‘sentences that don ke sel
the’ underlined part vn:h south n‘é that does
" ‘make sense. .

!

| He must roll

‘Dad is noh uslnq

nse and ‘Teplace

LA @te‘sr.ezn is-.playing.

“he’ can: borrow the

Montreal Canadiens -
- are playing. %




1. You will ruin your r,ecnn’is( if-it snows on
R Wednesday. ' .
' 2. ‘She will be punished if her father finds out.
) ‘3. I think I will read if there's nothing goSd oh TV.
4. Sally nust use a pen if she can't find her dog.

5. He will ruin his good clothes if he plays ball
in . them. > .

& 6. The teacher said Bob dbuld go if he had green
: spots on. his feet.
5, 7. .Dad said he would give me a dolijr if I died.

: g 8. Betty will go to the dance if Petler asks her, ashy her.

I will buy the car:if’ the ounex; 1ikes the way
dxess fs .

You will ru;u ‘your ‘daa's: new car if xou erve‘
-t in'the kitchen sink

! ‘LB§SON 127

Purpose e . el 2

joining two ideas, the first of which is-a conc@sﬁion_ to

‘the "second:

«‘Procedures’,

A

Play 'the qame as in Lesson 12 msw students s
‘would have o ‘play, the "old" game-at least onoebr
Introduce some excepemns to the ola rules as’
~.follow .

fred i O P ‘l'o start che gn.me you have to roil ‘above sik.

zxcepnon. Seven. 2 e




g
i

2.

3.

(2
1.
2
-

. ®f the game. To aid'in establishing the format

‘$ie can't leave thé white.. ‘She' did“get an.even.
number. ; :

90

To leave from a black square,.you have to roll i

an odd. number. g -

Exceptions: Those numbers above seven.

To leava fronaiwhite mquare; you! have to roll
an even number

Except).cns. Those numbers -below seven:. . i

As the gamd is played lead Gtuderits in a dis- " &
cussion of the changes made. Have them make G &
bservations such as the following: "Although ¥

he got an o0dd number it was too high." ' Havée them
realize that a concession is made.
Now, indicate you are going to. write down the ' *

exceptions just.encountered in the playing -,
by which this will be.done,' you want: the: students
to identify the word. missmg in the ‘£alloving
blanks.

“He’ went, to play the -game - his'leg
was ' inju R ’ % X

She xeturned his. pen

he said she:could .
keep ;

‘Jolin’ vent o ‘sehool’ | he wéé‘ still not
Zeeling: very well. ~ o

(Any tendency to use but in’ the above could likely
be rectifxed by reminding students of ‘the relation-
ship deSired. For example, in number two abcve x
but would m\ply that ‘he"said the pén ‘could b

Kept after she.returned itk

Cantlnue ‘the iideas in the fo)lwlng pairs of
” sentences -into one sentence. using although: s

Tom: can't Start the ‘game.. He did get above six.

esiiiad i i

Jack can't leave the black. He 'did ‘getvan odd ', -
/number. 5 -

MRS SR

Oral exexcise.

R

Complete the £ollowing sentencas to shcw that .




. Reinforcement Exercises . . -

Ay

SRFIIRC L

“create.a

g ft.with
“the on the rlght to shaw the fxrst ecncedea

the - first event occurred concedmg (xn spite -of)

* the event you add.

sau:y felt cold althnugh ;
The hot dogs tasted goca au_hough " g%, 0 e
Sally chews ‘g\lm in class although’ 1
There weren't many people. in (':he room although )

Jack went for a walk although - R e

Oral’ exercise. St ke

senteni:e’ usifi

; Por example:: ‘J¢

the’ sel:ond N

It séemed that h-_ vas Tl
going to snow SRR

it 1ookea clear '
B alx‘audy.

" Mom, usked, me' to vacuum
the carpet

The ‘plant’ is atiu

: it was the middle’ -
livk e ioer v

of June.

111 stay vp tb wateh

.. it had not been wateréd .
tha lata show P

fcz: a-long time. "




“es
L : .
1.
. 2,
=,
3y
- 4.

" ing tio

.

. Péte lost the fight " a. I haver school toman:ow

* mirabble ‘tne folilowing making surée althtmgh

.He'vas although small looked aanqerous the
d

Noon it vasiout very dark was it althnngh.

o @perating was mine the were on. the ‘men élthouqh

Ask ‘what, woula. happen to a sma.u ‘glass su:tmg

. .thé:othér. ! Ask which
~same lenqth)-v 2 8

comes' toyard the middle: of the sentence.

og. i
Diy walls wera £he although just painted- were’
they. :

stril

Altholgh’ hair funny looked his nobcdy at laughed : 2 g
teacher the et

lideas,” the Eirst Of Which is adyerse-to

o

on a.book.if the book Were turned over.: (The
glass ‘does not fall because, unknown to the
students. it ‘is. taped on) 5 7

ovide ‘the:; students with one.‘of those opcical
illusicns where one ‘line appears 1onger than
i ( hey




2.

.- Ledd the studem:s in a.discussion,Of what~
happened in the above: (the npposxte of what

‘. was expected). It is not likely the students-

will‘employ yét to.describe:what happened, yet

it'is qmte possible-they will®.express the

‘adversity in a statement:such -as "I ‘thou

‘the’ teachsr would: win the, arm wrestle buf. the .
N Student_ (Bllly) daia.

Now, ‘indicate_ that: the expenences Just

the word msnng in the following blank X5

J:un “doesn’t. 1ike t6.play ‘hockey He 1oves
o go..skating, . PR RS

Pal said the' rodm was empty i _ there vas
~somebody m 1t

. He is. big' ® that ‘doesn't mean' he's scxbng.'

(Slu\ients may havg d:ffxculty in com;lnq up
.« with ydt.  Some clues may be helpful  such as

1) + 2) rhynes with'pet; 3) students will
" likely suggest biit ' for. the above; tell them ..
it's a synonym Of but'and have: them “Look it
. up:in the dlct).o S8

“icombine the xdeas in the followxng paix:u cf
sentences:into one sentence using yet

The- (big, stxong) ceauher arm wrestled thh
the (sman,/weak) studenr_. The student\won»

The teachet turned over the book ith th? qlass
on it. me glass:did not fall. \

“Line AB locks longa: than line c; They }are‘
the same .leng

Ozal exe; cxse.

Show, by’ completing the Following, Ehat
you 4dd goesagainst the. idea already

“Example’: Jim-likes to play baseball, yet he
doesn' £ like! to play sofeball.




20 'l‘he te/chex was not 0 the classﬂm yet

43, Jill vas sick 1n bed yet

56 Gap raininq heavlly vet

'X‘he parade was to begxn aé two (-3 clock yet

: . i
o Complete “the following using’ LE to show. how
. you -can join two-ideas such . that, the oné you

ndd goes aga)nst thé xaea al:eady stated.

3

Hy ‘car is twelve years olﬂ

It was a sad stox:y

L7e L doesn’t over-sat SO

Patty looks o be gver twenty e

9.7 .1 would like to omn.a oy
10 The house laoked 1a:qe. 2 S :
.’ n . an idéa on. the left: with: one on ‘the nght g

Jusing ‘yet. to show that  the second 1d'ea Js nut
what “you might expec - 3

it was not 1n qood

“1udn't be' gomg ona
condition.

hala.day

He retumed ny: record‘ b, he could not iind
: . ‘anyone to-go with

3»

3 her honfework was not

I Have eriough’ norey..

9a,




. Jim wanted to do Swin- ‘all .the 1;ths were
ming. . © -7 tufned on.

oral eercis

Replace the underlined part with your own ddéa -« .. ¢
so that” the f;:st i lea goes against the one you
create. - . . DI

Pete wears his ccat in class, yet his téacher

-‘fnat man is héa»:}ly nin’éty yet ’h‘e-s‘ still working. - .

Jim, thougm-_ ‘it was stxll eaxly yet At was Iate.

" The truck left the {4 ata _hxgh‘ speeq yet
bod; inj red 1

3
4
3
&
g
]
1

Mottier had a~yet she went: o headache the party s

et it 1noksd cold. the water warm_ was .

/Edch’ oF ‘the Fol lowing aehtencen has<a; bord that
is underlined. : If the sentefice makes sensgri th
the underlined word. in_it, . then put:a-T,
blank: provided. If it doesn’t make sense,‘then
put an T in‘the blank. .

1f you are unsure, try :eadmg the sentemce .
replacing’ the tnderlined word with its'sub-.. *
stitute (the word.in brackets). If you thin]

- the ‘substitute makes sense,:. then: the undernned
word is all right and you can. put a T'in ‘the




_(50)

"“We Had'snow yesterday y__ (but) there

!You can stay out 1ate chus (s0)
“ you pmmise to be.goodr -

I'was
3 (but)jx am not qalng.

o Mary r“l go_to ‘the dance if (Supposm i
s that) £

“They dbn't Yike 't

My ‘A6giwill ds, Ericks ‘hovever (but:)

blank. Tf thé substitute word sounds wrong. i
then you should put an F in the blank.

Check L_ach sentefice’ Garefully by xeadmg Sig = &

‘using the substitute word:
‘Here aye some examples, for ‘you:

.The’ st dents were noisy in the classroom
thus (S0) ‘they were kept.in after school,

Beétty had: hardly sy thing: o eat” i1 day
thus (s0).she wasn't hungry. . RTINS

The qnnlxe tripped the defencenan, thus
3 twowminute penalty. T

hewev x (but) e
i s.upped the” gux acxcas the' face; ' :
posing ‘that) shie- dldn cry._}

was ne ar.v

is no ie .on :the ground tod

dha chn £alk very vell Elthough (even,
36):she is only three.

The man was caught robhing ths bank
(sl@posmg that) he ‘was arrested. PN

Joan y at’ €o'the movie'by hetself < <.
although ° (even 1f) she. chdn't want to..

Jinvi

eai o hér party; Rowever' ..’

feeli ng better

6 g0, to churgh ye t
(but) Lhey mist : gg eVery sunday.’

hina reﬁard w6




own
. (s0) shé never fell asledpl

v

-, the pxcnxc was cmcelled.

‘The Bus' vas heavily damaged in the

she was. not tlred the next day. "
. Puul
’although (even if).
L3R Y. i

. game :yet :(but) he nevet saw wh

‘ He doesn't ‘have ‘any uncles’ xet (hut) e
--he_does have. an aunt

‘although' (éven if) . there was:a hole S

"Hé céuldn't £ind 'his s anywhere ye
for ;

Yeave.on theg tnp "today’.

I.can't see you very vell althoug
leven: if) you are close to me.

accident; however (but) the people wex‘e
not Rurt.

She lay on the sofat/

“ John will play on the hackey. team if
- (supposmg that) h;s _exam marks are. good.

l
Sysah. tajed ’op, 411 night; however: (but)
/

it was warm in! the ool i
everyone else folind-

Jack ‘Iell asleep watchmg the hockey .

Jin said the ce was safe to walk on-

near, the brook:.

(but)" he; kept on ookin him;

Ix. starte to tain very ‘hard thus

so)

sing that) the weather is good.

Cer







S s R = At LY Y BRETEST.

‘She wnnl:' to school althoug

mxght be 'ﬂnishud‘to reads
She went’ to school although

7 sentence N

. Here is one, dqne Eor you:

%= ._ : : > You can not go out to play while
.5 S (a) yesterday. ‘is over; ~(b) I ‘am happy
2 ere is work to be done; - (d)- you are right.

(e)

thars. Now ™ begin. :

P 2 : N (Giveri ‘Januaty 17y 1977)

£ Xh Look at f_ha follmng mi:nxshed len!:enc

““they follow. ' Write the letter that ‘come:
: this group in the space at: the end of - the unfinxshed T

S understand what he has td do?

4. ~Foxty—£iva m.tnutes ﬁ:.ll be allouud for the test.
his means you have nearly a minute -
. for eath sentence. . Be'careful not to spend too much
< time with-'any ‘one sentence. 'ILf a sentence causes you'

“.trouble, leave it um—_u aftez‘ yon ve, tried an thez ="

Ndw 1ook‘ at.the uhfxnishe'd sentences in tke .tes: 'Vhe'ltnd. L
y ‘Each'is followed by foufr ‘groups of words arranged:(a),
. b)Y, (e), “and (d. You must choose the group of words

Theré




1. Clean ‘the tab1® and LS
) (a) ‘went to bed: (b) my dog has gone; s

! - (c) put] away the food: (d) it was an hour. 2 2
2. -You can 9 your present but S

(a) it is the pretty, blue one; (b} have a‘drink of water;

(e) he is kind; . (d) don’ t take.it out of the box now.

3. The boy left for home; however,
“(2) his dog didn't go with him; ~TB) ERe boy Will not go,
(c) vp the street; ~ (d)-the new girl up the  street.

4:. 1 have no money so : . 'y

y (a) 1 will give you some money; {b) I i:an not buy that'
“{c) in the letter; ew doll; 4

(d) 1 want my mney away. ¢

5. He ﬂld not hear h;m ask.for the paper, thus
; . 7 fa)- T like to read the'paper; (b he could ot se B
¥ ©7.77(€) he could not qive it to him; :'(d) anything is potsure. .=

1
i
7161 She will go to'the party if o .l T . i
Getvig (a) she can not go; - (b) the party was good ;
(c) she has a nice dress to-weaf; (d) and have a good time. .

oy ST JA He can'run very fast, although v 2
B . .- " (a) it is eight o'clock; -(b) a fine day; wie g e o)
> })\he could run yestezday, (d) he is an old man.. -l

§

o .8 He had rain yesterday, yet
5 : (a) while we had rain; (b) there. is :\o vater in our Helll

(c) ‘on the third day;, (d)- sow is always cold ana white.

N

9. They were.very happy .when H
(a) your car-went home on Its own; (b) to..go to town _ e
(c)-a letter came from home; i togeggther; - S
{d@) give me some money. :

10. / The cat will not go: into, the house while MWLl e
¥ h (a) it can sleep in the house; * (b) I 'hold my cat;
£ % (¢) it.is four o'clock; - (d) the doq is in there.
| 11. These-are the clothes which’ Gl
: (a) are new; (b) the.pig put_on the table, % e
(c) another.girl ‘had - them; (d) ‘all by myself. i
T 12 We ‘went for a walk where ” ;
© _.(a) I-am in bed now; (b) Both of theln were: in Lova. vt
(c)-a fly is only llttle, (d) we might find a flower. ..

2 o)
13%. I.can see the jel that e

" {a) my sister went away on; (F) did you go- Hith Rin?

) uould }uave been back; ' (d) over on the other side. .-

2 et 2 A SR el Y N




X “wait ‘my father -and
.{a). T want him n TBY by the yindou:-
Ve ‘he #eamé® with me; (d). he saw ‘the sun.

the; first day was fine but”
{a) it was'not; . (b) in the morning;
{c) tﬁe secnnd was: nnt- (@ hecause it-was hot.

‘He is guad o hé; ihotever, 3
" (a) he does-know a €nd ca{r‘ﬂy, 8) every boy will eat;
(€Y in-love with he (@). T don't uke bim much.

Put the clothes pn thf paby so
+(d)..the first thing;. ' (b):he. Wi T RoE g get a cold;
“4¢) his face is clean- 1d) every day.

‘THe cat could ROt rurt very fast, thus 7
(a) it could egk a. fish; ' (b) there wefe six of them,
(c) My cat'is brown; (d) ‘the dng got it at-once.

‘dog  will’ sietiE .
4)"you: ask. him m;_W do you K him?
Asia good dog a1l 7-4* (d) ithe cat .is black 4

or white.
i1l ‘go; tbithe show by mysexy althouqh
S(a@) may have two;. (b) I don’, b/w.mt

Ehink it is green; (d)‘around et early part.

ey ao not want to'go’ £6. school, yet .
(a) they know how tQ write;y (b)) T T think;
(c) to be happy; (d)-they muskt. '

It is all :Lgh: tq langh when
) .I-1like to éat an'apple;  (b) anything is funny;
xs his. (d) -the f\mny man. .

1 nevexvplay in the garden while : +
:(a) :she made-a good’ £r;end, (by also, at the ba:k. S
(c). I havg ‘on my good cloLhes, (d) two men are-at-work. .

Here 'is the Fing which . !
(a) I found;* -{b).I now have a. paz.t~ 2
() will he) round; ", () the Christmas Before lamt.

SYL will’want. to 11ve where . .
¥ (a) he went homej . (b) .in a Big &
.get .a .new house (a) he is not a qood friend.
r

- ~
% f : T
T I E
~ Gl he cat’ some muk or .
~(a) will not want a drink; 4b) give it some Mater;
(c) T would like to have:. sohe; (d) their cat is black. “

i 5 [od




27.
!

30.

32.

N\

33.
34.

35.

102

Here is the school that

(2) left the bther night; B) said it was not happy;

“(c) I went to for a year; (d) will. put the children in
a little box. -

I will go with my brother or

“(a) soon there were enough to go; (B) my brother and
(c) as early as I can; I will go;

(d) I will go by myself.

Make your bed and .

(a) I will give you a present; (b) it was open;

(€).if it is made now; (d) they were in my bed.
°

I would like to go but _ °
(a) because there is a party; (b) I can go;
(c) I can not go; (&) around-a big jet.

The car is. old; however, ‘
(a) .it will be next year; (b) it is very fast.
(c). the ‘colour is red; .- (d) we do not wanr. to go.

Get more candy 50

(a) I like candy;  (B): eat all of it;’

{c) " you:have .too much now, (d) your brother can have
some .

‘He did not close the ‘door, thus
(a) it'was cold out; (b) the door was green;
(c) it got very cold in the house; (d) the uater ‘was wet.

They will go today if .
(a) when they went yesterday; (b) it does not rain;
(c) or next year; (@) the wind is not too blue. Y

I can not hear you well, although
(a) I am right next t6 you; (b) I only have one eye;
(c) in my head; (d) the letter came.

She went to bed, - i 7

(a). I would like {ﬁ\ssleep all night; (b) every night at
{c) she did not.go tb sleep; » nine o'clock;
@ the milk was alvays. T ® :
“The game was very close when s

(a). he does not like ta play; ™) today at(three s clock~

~ (¢) he put his head in a box; (d) I lef B

You should not talk while
(a) both. of them .went; (b)- chmE back to the las€ time;
‘(c)- there were four of them; (d) you eat your food.

Put on anything wluch

‘(a) will keep you warm; (b) that' is not too warm;

(c) will take a long walki (d) he got a mew green coat.

B T i e




40. ' It was at the farm where = : .
(a) first one pig then another (b) he found the rabbit;
(c) go back there again; () his feet ran away.

41. Is this the candy that
(a) too much is not good for you? (b) all come 6 the
(c) you can grow in the garden? 3 4
(a) ‘the children will eat at Christmas?

42. You should help or’
(a) it is only kind; (b) pick your own time;
(c) get out of the way; (d) which of you will do it?

43. I am very warm and
(a) I would like a cold drink; (b) around my head;
(c) she made a cake; (d) made a big fire.

44. The dog is small but &
(a) he is very big; (B he is very fa :
(c)!a big dog is not smalls = (d) a-dog *Vike hm\.

45. . Thank you for the squirrel; hovever,

(a) because.it is brown;: (b) -I.think I am Well riow;.

(c) mother said. I can not keep him; (@) I hke a pretty E
3 3 Fypids ing. 3

o i e wtel
(a) close ‘thé door; ' (b)w I }ove tu wash
(c) we can.sing our sengj.: (d) we . can see ont of it.

47. He ate too much cake, thus .
(a) he didn't feel®well; (B) do like cake; N
(c) he will‘nat grow; :(d) it is best to eat.too much
g candy. 3
48.. He will sing 1n the :show if
(a{ all night long; ' (b) he Is Eettex,
*(e) next year will not be too long:’ (d) a friend in the
-play.’

49, He said the coat was red, although
(a) I like a Warm’'coat;. ~(b) a new coat every year;.
(c) it was brown; (d) ‘and it was clean.

50. He does not haye a brother, vet .
) (a) he has two; (b) he does havepe sister;
.74 (o) he is very old; (@) he willflive by his brother ;

Sk, Mother saxd not to jump about..when

(a) we have on our: good clothes;. (B) our Bird will not

(c) I have big. feet;
(d) the ball was mot his.




52.

53.

54.~

56,

10%

WE went by jet while ' %
(a) I might go along; (b) the next time is better;
(c) they went by car; (d) I saw many of them.

It was only five o'clock which
(a) we all sat down; (b) was close to his name;
(c) until six.o'clock; (d) was very early.

-He will take his book to school where -
(&), until she does not; (b) he can use it
(c) bring another book; (d) the next day will come on

The baby took out each toy that
(a) he does not like tcr\play with one; (h) was in u.e
(c) sit with his mother;. toy box;

- (@) he could see with one eye.

Bxxng h:.m a pressnt or
(a) give higi some money: ( Tt will make you . happy,
good one;. (d) it wiJ.,'L mnke her warm. .
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J ; " posTTEST i ‘
0 . " ' (Given April 21, 1977) .
: i

Instructions (to be read by teacher) - - °

- 1." Look at the followiag unfinished senténqe.
\_ X She went. to 'school although

Thzs might be finished to read: :
> she went to school although she_was not wel

7 .2. Now. look at the unf:,nlshed sentences in-the test below. . - i
Each, is followed by four:groups of words arranged, ()7 iy
] (b); (c), -and {d)." You must .choose tI roup -of ‘words
“ e *.jthat makes -the best ending for® the un: ished sentences,
) . they follow.. Write'theletter. that comes in front' of
this group:in the space -at the cnd of ‘the’ unfmished
" sentence..

‘Here is.one done for you: - :

You can not'.go out to play while
qaj. yesterday is over; (b) I am happ:
. (c) there is work to be.done; -(d) your arle rlght.

Do€s everyone understand what he has to”do?

.. 4. Forty- fxve mlnutes will be allowed for-the, test. There
‘ # S -.are 56 sentences; this’means you have nearly a minute
for each’ sentence. * Be careful not’ to spend-too much -
; -time with any.oné sentence.  TIf a ‘sentence causes you
7 '’ trouble, ‘leave it until after yau ve trie 1 the
.. others. Now begxn. .




5

g

11,

L2,

L 13

“CF 13ke Rim although " N
,+(a)"I -don"t know him very weT.

“A{e)imy slstex: is nlne, (d):1.can get. the money-..

o He does not, Tike to‘ play W] e

vThex'e is the ‘tree; ‘that

¢
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I went to the“fa:m and . °

(a) my dog is black; (b) cat my cake;

(c) saw the pig; {(d) ‘today is a bad day.

Ask her for some money but -
(a) in her hand; ~ (b)' give her some money;
(c) to play with your doll}” . (d)-don"t ask for much.

He is next; however 0 ‘
(a) I will'go before KImj (b) I am not next;
{c) in my turn; '(d) a long:jump.

yﬁte: has hurt her head so .
it is too bafl; - (b)-she can not go to-the party;
she is better, (d) it.is- aftet one o'clock: ©

"The’ woman had -a‘man with:her, thus %
(a), she”was_ a -good ‘woman;_ (b) she wAs R othe
(c) thérewere two cf them; “(d) I know ‘the ma)

J(a)' in ‘a:big car; (b) to huy somé new clothes,

5 C(8) he will Fke'me;
(). bgcause’ he is"a finé boy;. (d) do-you'like him?

The fire was out, yet'
(a) by the black. thre
(c) please startia fire;

{5) the ‘house was warn;.’
(@) the firolvas over.

ie chind Back. when i
(a) around five o' clock, < (b) -he w).ll go

(c) he saw all the people, (d) bEfDre he cculd ‘sed them.;

Hé got the car warm while ]

(a) ran.for a long time; b the man was tou fat4

.(c) the- car was a bxg new’one; .’ (d) 'she put: on her hat:
and’ cnat. e

That'was the qamz w}'uch. - Ly
(a). ran.for a long time; . (B) we eat’ every-year; E
) usé it to makKe a table; (d; under At for a look. e

re

(a)‘onca he went:ito .a show

illiget the:table:

(a). doon it wjll be ove‘*“)‘(b a vexy pretty THacss
(c) does‘not ike people: “(d) will be cut-dawns

(BY the ¢ aré so'many people;.
£ {c) his best friend vas. theré; (d) I




14. You must wash your clothes g: PR, v
-(a) always the.same way; (b) they Wil “Will be ¢lean;
(¢)" as "soon as you take chem, nff, (d) they will be no
o s ; d» to put on.
r N - 2
.. . .15. The boy saw seven ehiidren and - |
. ; 2 (a)’ each'had on'a pat;’ (b) it Was in.a a box.
* (€). T eat in the morming; . (d) one of them said:

. 16.. ‘how fhe dog.to your sister But .
P “{a)”is a pretty one; , (b) first take awa‘

- the cat;.
£ (e) I gave him some water; - (@) if he -is too bad. .3

3 "17. -Mahy ‘children walk to school;’ however | g
25 {a)-to the house; ~ (bd "I will walk’ today 5
; S +(e) they.may ride if.they wish; (d) Yon ia day.

Come Over:-to; my house ‘so 4
(a) "I“was in:your “house;: (55 the sun will come: out;
[} i s My’ hon\e, (d) we can ﬂo out; wo:k toqethet.

. “He_‘put.on thie wrong - coat, thus - 7
7. '(a):he had to take it Off (b) part of +was. bad;.
L7 AQ) his ‘head will be fu!.l., (d) his own-was brovn

ne
an ‘read 1t. (5) Tt has my ‘name on'-it
a.good-book; (d) try to read every day.

not far to my home, althuuqh
N (a)'it is’a big house; -’ (b) 'both of them are not;
oop e #+ide) it'may look that: ey (d) inal 19ng walk.

. 22." 'He ‘was. riot hurt much, ye
« .7 (a). the:car he was in;’ (kﬂ—f;—efore he got too-hig] i
A (c) the stz‘eet s not-£oo -bads '( ) his face was cut open. i)

“ You should not eat cake vhile
(a) the dog is in his house;
~ (c) I Jump in the water

s There i house which 2
: (a):'¢lose. the door please' E) around heré until. then
~u.0 (e) 15 white and blue, (@ had a lﬂxle baby.

26, Tt was hard ‘toipit out the fire wherel. - ; '
5 (a) it was. too'hot to’ play, “(b)- I will cut- Eown a’tree;




29.

-.30.

3 (c)rto eat the bre'ad—v (8) "her present is. not.;

g

(c) you may walk, « (d) you -will want to ride.

& (c) they bnth got up aga

" Can you help fie 50 .

‘She ‘was “only. two, “this

(c) ‘the* other gul Will not; " (d)' thi

: s a
Here is:the paper ‘that : 5
(a)’ sit down’ for a second (h) came over.to play; i
(c). pat oy the table, (a) 1 gave to father.

You may I de in I:he car or
(a) once T had-d cary / (b) It 15 so cold,

e girl will not.ask him fo-come and
_(a) he .gave a box away; (b) said he haﬁ a do
“(e). in the morning;. (d) give her ‘some help.

He saw the.little hoy but. . .
(a) not the little girl; - (b). the boy was ’b).g,
(e): now the othez girl; " (d) give to-her. )

The boy ana nis brother went to bed; )wwever,
(a) it was .to see them; -(b). by:the window:
(d) thé night was fine.

{a)I don't;want hel b) 1 will not: be the’ J.ast ne
{c)-I found my ring; - i’ -to qo, o
(d) :hope' for ‘the hest. ..

Eree, b) her - muther is prett
c ).'she does” not go to school.

‘(&)--last :year:she wa:
(c) buy-a new doll;

My’sister will be happy if
() ‘you' take' her ‘out; (b} w'f.—‘en she is goinq,

x‘
1: is cold today. althoug‘h R ) 2
a) abcu this’ time'every' year; IE) the ‘sun is ou
(c)ishe'is not with him;® (d)

s it cold today?’

shé vill ﬁr].nk anything icold, yet 3 4
(a) if,she does; -.(b). she' ddes not”r"—“lxe Tndys
“(c). .she m,ll not ‘eat cold. food; * (d) in £he bread box.:.,

¥ou will have to help’ me ‘cut sowe; viooa wher b < A

‘(a) ;T go £o bed; " (b) all by myself; .
(c) do you have a saw? (@) it ‘is our turn
4 - fires

G makethe .

“‘one gn:l will wear Ne: dzess whxle -
(a) turn’ up- another one;: “(b):-just Befere now;
cat is coltL

Where i the bed whit
(a) “can niot go ‘to sleep” _'m) Te for me?

" (c):go to’bed ‘at tenm. (a) 1 hke the bed :£9.bé | clean. :




41.

She went to town wherc
(a) she got a new hat; (B) out cat is black;
(¢) she gave each of them; (d) to buy wok.

Where is the money. that

- (a) .we buy with it?‘ (b)7can tell the time?

s

49. -

Go to sleep, now. 50,

She had two,; and he had eight, th us .

‘el will Nt g0 to’bed,: although: g X
(31 he s do bed.howr (b} he will not & meep; i

(c) we.need for the party? (d) put out the fire?

‘We will go out soon or

(a) e like to go out; (b) together we can do it;:
(c) ‘we will not go out at all; (d) if they come by
» B - - four o'clock. .

Run to the window and

“{a)-give your head away; (b) call your brother,

(c) by the sun; (@) her face 1s brown.

é does not. think she -is very’ p:etty ‘but -
e’ a; pretty’'girli.: (b).-have’ good .elot]
() saxd Ehe ‘boy.

‘{esterday we had ram, ‘however: : o
a),"it s now;. ).:on: the. ‘town; &
(c): tcday HI1 start it

(a) you. can’get 'wp BAElyi . (b). the next morning::
(C) the bed can be Il\ade, (ﬂ) % ll.k.e tu sleep.

(a) "they cach had. an apple; - (b) memthem togey g
(c) they“live .on a fa:m, . had r.en.

.(d) they were red. " )

(b') every n;\ghb' ki
@), in che morning.— #

I love to'eat a hot dog £f,
(a) milk is good for you;
(e). it 1s good: and hot

- (c) do’you know him? - (d) itlisaftex: two o'clockin -

50

51,

- (c) he had a.

--{a) ‘he said the ‘best

the-morning.
The bird is hirt, yet £
(a)y it is too'bad;:. "(b]" tﬁey all fly, . et f
(c) it cxn £1ys (d) up h;gh in the tree. @ 20 N

L His face would “turn red when

(a)’ it was not blue origreen; (E) ‘he got too n\uch sun,
g -head;”. (d). hzs eyes were bxown.

Fither said he would vesh wy dog While B
“(b). -there was -tod RGGh W water

) I'wos not too warmi ()1 was'away.

B




53.
54.

55.

110

He Bave her sope money which
(a) was not his; - (b) every time he saw her;
“(c) to buy a dteﬁsr (d) went down the .street.

He went over to the water where
(a) by all the children; (b) he could see some fish;
(c) going to be all day; -(d) he will look for water.

I own the shoe that

“(a) was a big shoe; ~(b) another shoe just the same;

(c) you found yesterday; (@) you don‘t. own it, do you?

She must f1nd her old Cuat or
(a) she will put her old. coat;” (b) she said “yes";
(e) look under the table; (d) buy a new one. L -
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